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Attempt any four questions. All questions carry equal marks. 

Q1 “Senders must be aware of the receivers or audience they want to reach and the responses 

they want”. In the light of the above statement explain the various elements of the 

communication process? Also explain the various hurdles to communication. 

Q2 “In our factories, we produce cosmetics, but in our drug stores we sell hope.”- Charles 

Reuson from Revlon. In the light of the above statement explain how advertising is a 

powerful tool of promotion? 

Q3 What are the essentials for an effective advertising copy for print media? Also explain 

how does effective visual, slogan, logo, colour and proper illustration help in capturing the 

attention of the target audience? 

Q4 “Radio as a broadcast media is reinventing itself as Internet Radio and FM radio”. By 

giving suitable examples mention the merits and demerits of radio advertising? 



Q5 What are advertising agencies? Discuss the various types of advertising agencies? How 

can agency and client relationship remain cordial? Also mention any two large advertising 

agencies in India?      

Q6 “Legal rules, code of conduct and ethics are three pillars of healthy advertising 

environment”. Comment mentioning the laws available to protect Indian consumers against 

misleading advertisements.   
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Note: Answers may be written either in English or Hindi but the same medium should be followed 

throughout the paper. 

 इस प्रश्नपत्र कण उत्तर अंग्रेजी यण ह दंी ककसी एक भणषण में दीजजए लेककन सभी उत्तरों कण मणध्यम एक 
 ी  ोनण चणह ए। 

 

 

Attempt Any Four questions.  

All questions carry equal marks. 

ककन ीं चार प्रश्नों के उत्तर दीजजए। 
सभी प्रश्नों के अंक समणन  ैं। 

 

 

 

1. What is citizenship? How has the concept of citizenship evolved over time?  

नणगररकतण क्यण  ै? समय के सणथ नणगररकतण की अवधणरर्ण में ककस तर  ववकणस  ुआ  ै? 
 

2. Critically examine T. H Marshall’s theory of citizenship. 

नणगररकतण पर टी. एच. मणर्शल के ससदधणंत कण आलोचनणत्मक परीक्षर् कीजजये। 
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3. What is multiculturalism? Examine the notion of differentiated citizenship in this 

context. 

ब ुसंस्कृततवणद क्यण  ै? इस सनदभश में ववभेदीकृत नणगररकतण की अवधणरर्ण कण परीक्षर् 
कीजजये। 
 

4. What is Globalization? How has it affected the concept of citizenship?  

वैश्वीकरर् क्यण  ै? इसने नणगररकतण की अवधणरर्ण को ककस प्रकणर प्रभणववत ककयण  ै? 
 

5. “Cosmopolitanism provides a radical critique of the manner in which distorted global 

politics perpetuates global inequalities”. With reference to this statement discuss the 

idea of cosmopolitanism.  

“सवशदेर्वणद ववकृत वैजश्वक रणजनीतत के दवणरण वैजश्वक असमणनतण बढ़णने के तरीकों की 
आमूल-पररवतशनवणदी आलोचनण प्रस्तुत करतण  ै”। इस कथन के संदभश में सवशदेर्वणद के 
ववचणर की वववेचनण कीजजये। 
 

6. What is Global Justice? Examine the concept of global justice with special reference 

to Thomas Pogge’s views.  

वैजश्वक नयणय क्यण  ै? थॉमस पोगे के ववचणरों के ववर्ेष सनदभश में वैजश्वक नयणय की 
अवधणरर्ण कण परीक्षर् कीजजये. 
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टिप्पणी:  

1. इस प्रश्न-पत्र का उत्तर ससं्कृत या हिन्दी या अगं्रजेी ककसी एक भाषा में दीहजए, परन्तु सभी उत्तरों 

का माध्यम एक िी िोना चाहिए ।  

2. इस प्रश्नपत्र में कुल 6 प्रश्न िैं । इनमें से ककन्िीं 4 प्रश्नों के उत्तर दीहजए । सबके अङ्क समान िैं । 

Note:   

1. Answers should be written in Sanskrit or in Hindi or in English but the same 

medium should be used throughout the paper. 

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each 

question contains equal marks.  

 

1. आयुर्वेद की पुनर्ववसु परम्परा का ऐहतिाहसक र्वणवन कीहजए । 

Write the history of Punarvasu tradition of Ayurveda. 

2. अष्ांग आयुर्वेद का र्वणवन कीहजए । 

Describe the eight componentsAyurveda.  

3. चरक एरं्व सुशु्रत पर टिप्पणी हलहिए  । 

Write short notes on Charaka and Sushruta. 

4. हिहिर तथा ग्रीष्म ऋतु में पथ्य-अपथ्य का हर्वर्वेचन कीहजए । 

Describe wholesome & unwholesome diets in Summer and Winter seasons.    

5. आयुर्वेद का पटरचय दतेे हुए अष्ांगह्रदय का र्वणवन कीहजए । 

Describe the Ashtanga Hridaya while introducing Ayurveda. 

6. तैहत्तरीयोपहनषद की भृगुर्वल्ली के अनुसार पञ्चकोि क र्वणवन कीहजए । 

Describe the panchkosha According to Bhriguvalli of Taittiriyopanishad. 



Name of the course         : CBCS B.Sc. (H)Mathematics 

Unique Paper Code         : 32357502 

Name of Paper                : DSE-I:  Mathematical modelling and graph theory 

Semester                         : V 

Duration                         : 3 hours 

Maximum Marks            : 75 Marks 

 
Attempt any four questions. All questions carry equal marks. 

 

1. Use the Laplace transform to solve the initial value problem 𝑦 ′′ +  3 𝑦 ′ +  2 𝑦 =  𝑒ି௧ ,    𝑦(0) =

 𝑦 ′(0) =  0. Find ℒିଵ ቀ
ଷ௦ା଺

௦మାଷ௦
ቁ, ℒିଵ ቀ

ଵ

(௦ାଷ)మାସ
ቁ. Is the unit step function of exponential order? 

Justify your claim. 
 

2. Show that 𝑥 = 0 is an ordinary point for the differential equation 𝑦′′ −  𝑥𝑦′ − 𝑝𝑦 =  0 where 𝑝 is 
any constant. Also find the power series solution of the above equation in powers of 𝑥. Find the radius 
of convergence of the following two series: 

 ቀ
௫

ଶ
+

ଵ.ଷ

ଶ.ହ
𝑥ଶ +

ଵ.ଷ.ହ

ଶ.ହ.଼
𝑥ଶ +. . . ቁ and  𝛴

௫೙

௡!
. 

 
3. Using Monte Carlo simulation, write an algorithm to calculate the volume above 𝑥𝑦-plane and below 

the paraboloid given by 𝑧 = 𝑥ଶ + 2𝑦ଶ  for (𝑥, 𝑦) ∈ [0,1] × [0,1]. Use Linear Congruence method to 
generate 15 random real numbers with multiplier 2, increment  5, modulus 13 and seed 1. Is there 
cycling?  If yes, then give the period of cycling.  

Given below is the data for a hypothetical situation with four ships on a small harbor, using that 
answer the following : Average time of a ship in the harbor, maximum time of a ship in the harbor, 
average waiting time of a ship, maximum waiting time of a ship and percentage of time dock facilities 
are idle. 

 
 

4. Formulate and solve the following linear programming problem using Simplex method. Also verify 
its solution using Algebraic or Geometric method: A container manufacturer is considering the 
purchase of two different types of cardboard-folding machines: model 𝐴 and model 𝐵. Model 𝐴 can 
fold 10 boxes per minute and requires 6 attendants, whereas model B can fold 20 boxes per minute 
and requires 8 attendants. Suppose the manufacturer can fold a maximum of 140 boxes per minute 

 Ship 1 Ship 2 Ship 3 Ship 4 

Time between successive ships 30 35 40 60 

Unload time 25 60 35 70 



and cannot afford more than 72 employees for the folding operation. If a model A machine saves    
Rs. 8 and a model B machine saves Rs.12 per minute, how many machines of each type should be 
bought to maximize the savings?  
 

5. Are the following graphs isomorphic? If so, find a suitable one-one correspondence between the 
vertices of graphs: if not, explain why no such correspondence exists. Are these graphs Hamiltonian. 
If yes, then write down a Hamiltonian cycle otherwise explain with reason. Check whether the 
conditions of Ore’s theorem hold for both the graphs.  

 
Draw two graphs each with 7 vertices and 9 edges: one that is Eulerian but not Hamiltonian and one 
that is Hamiltonian but not Eulerian.  
 

6. Draw a simple graph with degree sequences 6, 4,4, 3, 3, 2, 1, 1 and find the total number of  edges. 
How many continuous pen-strokes are needed to draw this simple graph without covering any part 
twice? Justify your answer.  Can a simple graph have 5 vertices and 12 edges? If so, draw it, if not, 
explain why it is not possible to have such a graph. What is thelargest number of vertices in a graph 
with 35 edges if all vertices are of degree at least 3? There are 15 telephones in a town. Can we 
connect them so that each telephone is connected with the other 5 telephones?   
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Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. Answers may be written in English or Hindi but the same medium should be used 

throughout the paper. 

3. The question paper consists of six questions. Answer any four questions.  

4. All questions carry equal marks.  

5. Use of simple non programmable calculator is allowed. 

6. Statistical tables are attached for your reference. 

 

परीक्षार्थियों हेतु अनुदेश 

1. इस प्रश्न-पत्र के प्राप्त होते ही तुरन्त सबसे ऊपर अपना रोल नम्बर ललखिए। 
2. उत्तर अंग्रेजी या हहन्दी में हदए जा सकते हैं परन्त ुपूरे पपेर में एक ही माध्यम का उपयोग ककया 

जाना चाहहए। 
3. इस प्रश्न-पत्र में छः प्रश्न हैं। ककन्हीं चार प्रश्नों के उत्तर दीजजए। 
4. सभी प्रश्नों के बराबर अकं हैं। 
5. साधारण अप्रोग्रामनीय कैलकुलेटर का प्रयोग मान्य है। 
6. आपके सन्दभि हेतु साजंययकीय साररखणयााँ संलग्न हैं। 
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Q1. (a)  Given the following matrices: 

   𝑿′𝑿 =  (
10 30
30 106

)      𝑿′𝒚 =  (
30
92

) 

(i) Calculate 𝛽̂1  𝑎𝑛𝑑 𝛽̂2 ,  

(ii) Given, ∑ 𝑌𝑖
2 = 106 , calculate 𝜎̂2 

(iii) If  𝑥𝑜 = (
1

10
), find mean prediction of Y. What is the estimated variance of 

mean prediction? 

 

    (b)  To study the behavior of U.S states and local government expenditure, the  

  researchers developed the following simultaneous equation model: 

𝐸𝑥𝑝𝑖 =  𝛽1 + 𝛽2𝐴𝐼𝐷𝑖 + 𝛽3𝐼𝑛𝑐𝑖 + 𝛽4𝑃𝑜𝑝𝑖 +  𝑢𝑖 

                                        𝐴𝐼𝐷𝑖 = 𝛿1 + 𝛿2𝐸𝑥𝑝𝑖 + 𝛿3𝑃𝑆𝑖 +  𝑣𝑖 

  where,    Exp= State and Local Government Public Expenditures 

                AID= Level of Federal Grants-in-Aid 

                Inc= Income of States 

                Pop= State Population 

                 PS= Population of Primary and Secondary school children 

  In this model, Inc, Pop, and PS are regarded as exogenous while Exp and AID 

  are endogenous variables. 

   E(ui) = 0  E(vi) = 0  E(ui, uj) = 0  E(vi, vj) = 0 

   E(ui
2) = σu

2    E(vi
2) = σv

2 E(ui, vi) = 0 

   Cov (Inc, ui)=0   Cov(Pop, ui)=0    Cov(PS, vi)=0 

(i) Are the OLS estimators for β and 𝛿 coefficients consistent? Explain your 

answer. 

(ii) Show that the covariances of stochastic explanatory variables, Exp and 

AID with the relevant disturbance terms are not equal to zero. 

 

            (9.5+9.25) 

 

(a) आवू्यह ों   𝑿′𝑿 =  (
10 30
30 106

)      𝑿′𝒚 =  (
30
92

) हेत ु

(i) 𝛽̂1  व 𝛽̂2 की गणना कीजिए। 

(ii) यजि, ∑ 𝑌𝑖
2 = 106 , त  𝜎̂2की गणना कीजिए। 

(iii) यहद  𝑥𝑜 = (
1

10
), त  Y का माध्य परू्िकर्थत मान ज्ञात कीजजए। माध्य पूर्िकथन का 

आकललत प्रसरण क्या है? 

 

    (b) अमेरिका में िाज्य व स्थानीय सिकाि ों के व्यय के व्यवहाि का अध्ययन किने हेतु श धकतााओों ने जनम्नजिखित 

 युगपत समीकिण मॉडि का जवकास जकया: 
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𝐸𝑥𝑝𝑖 =  𝛽1 + 𝛽2𝐴𝐼𝐷𝑖 + 𝛽3𝐼𝑛𝑐𝑖 + 𝛽4𝑃𝑜𝑝𝑖 +  𝑢𝑖 

                                        𝐴𝐼𝐷𝑖 = 𝛿1 + 𝛿2𝐸𝑥𝑝𝑖 + 𝛿3𝑃𝑆𝑖 +  𝑣𝑖 

 िहााँ,    Exp= िाज्य व स्थानीय सिकाि ों के ि क व्यय 

                AID= सोंघीय अनुिान का स्ति 

                Inc= िाज्य ों की आय 

                Pop= िाज्य की िनसोंख्या 

                 PS= प्राथजमक व माध्यजमक जवद्यािय ों में बच् ों की सोंख्या 

  इस मॉडल में Inc, Pop, व PS बजहिाात (exogenous) मान ेगए हैं जबकक Exp व AID 

  अन्तिाात (endogenous) चर हैं। 
   E(ui) = 0  E(vi) = 0  E(ui, uj) = 0  E(vi, vj) = 0 

   E(ui
2) = σu

2    E(vi
2) = σv

2 E(ui, vi) = 0 

   Cov (Inc, ui)=0   Cov(Pop, ui)=0    Cov(PS, vi)=0 

(i) क्या β व 𝛿 गुणांकों हेतु OLS आकिक सुसोंगत (consistent) हैं? अपने उत्ति क  

समझाइए। 

(ii) िशााइए जक यादृखिक व्याख्याकािी चि ों, Exp व AID कै सोंगत तु्रजि पि के साध 

सहप्रसिण शून्य नही ों है। 

 

            (9.5+9.25) 

 

 

Q2. (a)On the basis of quarterly data collected from 2001 to 2010 a researcher  

 wants to find if there is any causality between Money Supply (M) and  

 Interest Rate (R). Consider following equations: 

𝑀𝑡 =  ∑ 𝜆𝑖

4

𝑖=1

𝑀𝑡−𝑖 + ∑Ф𝑗

4

𝑗=1

𝑅𝑡−𝑗 + 𝑢1𝑡 

𝑅𝑡 =  ∑ 𝛼𝑖

4

𝑖=1

𝑀𝑡−𝑖 + ∑ 𝛽𝑗

4

𝑗=1

𝑅𝑡−𝑗 + 𝑢2𝑡 

 

(i)  Establish a formal test to detect causality from M to R.  

(ii)  What additional test is required to address bilateral causality? Clearly 

 explain how to conduct the test and define F statistic.  

(iii) Using F tests state under what conditions it is suggested that the two variables- 

 M and R are independent of each other. 

(iv)  Given that: 
Direction of 

causality 

F- value 

𝑅 →  𝑀 6.59 

𝑀 → 𝑅 3.65 

  At 5% level of significance, check if there exists unidirectional or   

  bilateral causality. Specify your null hypothesis and alternate   

  hypothesis.          
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 (b) In the regression model:    𝑌𝑖 =  𝛽0 + 𝛽1𝑋𝑖 + 𝑢𝑖            
  (i) Suppose 𝐶𝑜𝑣 (𝑋, 𝑢)  ≠  0. Show that the OLS estimator of 𝛽1 is  

   inconsistent. 

  (ii) Let Z be an instrumental variable (IV) for X satisfying the necessary 

   conditions. Show that the IV estimator for 𝛽1 is consistent.  

(iii) If however, Z is not completely exogenous show that the IV estimator is 

inconsistent. 

(iv) What will be the conditions in which we will still prefer instrumental 

variable estimator over OLS? 

         (9.5+9.25) 

           

 

(a) 2001 से 2010 की अवजध हेतु सोंग्रजहत तै्रमाजसक आोंकड ों की सहायता से एक श घकताा यह ज्ञात  

किना चाहता है जक क्या मुद्रा की आपूजता (M) व ब्याि िि (R) के मध्य कोई कारण सम्बन्ध है। 
ननम्नललखित समीकरणों पर वर्चार कीजजए: 

𝑀𝑡 =  ∑ 𝜆𝑖

4

𝑖=1

𝑀𝑡−𝑖 + ∑Ф𝑗

4

𝑗=1

𝑅𝑡−𝑗 + 𝑢1𝑡 

𝑅𝑡 =  ∑ 𝛼𝑖

4

𝑖=1

𝑀𝑡−𝑖 + ∑ 𝛽𝑗

4

𝑗=1

𝑅𝑡−𝑗 + 𝑢2𝑡 

 

(i) M से R की ओर कारण सम्बन्ध का पता लगाने हेत ुएक औपचाररक परीक्षण स्थावपत कीजजए।.  
(ii) जिपक्षीय कािण सम्बन्ध हेतु कौनसे अजतरिक्त पिीक्षण की आवश्यकता ह ती है? इस परीक्षण को  कैसे 

जकया िाए, यह स्पष्टतः  समझाइए तथा F प्रजतिशाि क  परिभाजित कीजिए।.  

(iii) F पिीक्षण ों की सहायता से यह बताइए जक जकन परिखस्थजतय ों में यह कहा िाता है जक ि  चि - M व R  
एक दसूरे से स्र्तन्त्र हैं। 

(iv) जिया हुआ है जक: 
Direction of 

causality 

F- value 

𝑅 →  𝑀 6.59 

𝑀 → 𝑅 3.65 

   5% साथाकता स्ति पि पिीक्षण कीजिए जक क्या एकजिशीय या जिपक्षीय कािण सम्बन्ध है। 

अपनी शून्य व वैकखिक परिकिनाएाँ  जिखिए।       

   

 

 (b) समाश्रयण मॉडि:    𝑌𝑖 =  𝛽0 + 𝛽1𝑋𝑖 + 𝑢𝑖  में,           

(i) मान िीजिए जक 𝐶𝑜𝑣 (𝑋, 𝑢)  ≠  0. िशााइए जक 𝛽1का OLS आकिक असोंगत (inconsistent) है। 
(ii) मान िीजिए जक Z, X हेतु एक याोंजत्रक चि है तथा यह इस हेतु आवश्यक शतों क  सनु्तष्ट किता है। िशााइए 

जक 𝛽1 हेतु IV आकिक सुसोंगत (consistent) है।  

(iii) पिनु्त यजि, Z पूणातः  बजहिाात नही ों  है त  िशााइए जक IV आकिक असोंगत है। 

(iv) वे कौनसी खस्थजतयााँ हैं जिनमें इसके बाविूि हम OLS  की अपेक्षा याोंजत्रक चि आकिक क  चुनेंगे? 

         (9.5+9.25)  
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Q3. (a)  A researcher studies investment function of 6 firms for 10 years. The  

  results are presented below: 

Variable Coefficient Std. error t-statistic 

Intercept -72.143 83.9292 -0.8596 

Sales 0.1123 0.0176 6.3807 

Cost 0.2453 0.0114 21.5175 

Random Effect: 

Firm 1: (-172.9431) 

Firm 2:  (-10.5077) 

Firm 3: (-11.7421) 

Firm 4: 169.5642 

Firm 5: 14.8572 

Firm 6: 10.7715 

R2= 0.9323 

 

(i) Write down the regression model and explain the Random Effects 

model (ECM) used to obtain the results above. 

(ii) Interpret value of the common intercept.  

(iii) Interpret value of Random Effects of Firm 1 and Firm 4. 

(iv) Find sum of the estimated Random Effect values for all six firms. 

Explain your result.  

(v) Set up a formal test to choose between FEM and ECM. Clearly specify 

null and alternate hypothesis. If the Hausman test statistic for this 

model = 4.786217 (d.f =2), interpret your results at 5% level of 

significance.  

  

 (b) A researcher estimates the following two functional forms for Cobb-Douglas 

  production function: 

  Model 1:    Qi =  A1 + A2(labour) + A3(capital) + ui  
  Model 2:    ln (Qi) =  B1 + B2 ln(labour) + B3ln(capital) + vi 

 

(i) Can we choose between the two models based on the value of R2? 

(ii) Outline the steps to conduct a test to choose which functional form fits 

the data better. 

(iii) Using cross section data for 100 firms, if the Residual Sums of Squares 

(RSS) for the two models are: 

                                          RSS 

   Log-linear Model :    2.3352 

   Linear Model        :    2.6891 

   Use the formal test outlined in (ii) to choose between the two models. 

   State null and alternative hypothesis clearly. Choose 1% level of  

   significance (you are given that ln(1.15155)=0.14111). 
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(iv) In model 2, if it is believed that the researcher should include another 

explanatory variable-‘energy’ to the model, explain how to conduct the 

LM test for omitted variables. 

          (9.5+9.25) 

 

(a) एक श धकताा 10 र्र्षों हेत ु6 फमों के ननर्ेश फलन का अध्ययन करता है। पररणाम ननम्न प्रकार 
  हैं: 

Variable Coefficient Std. error t-statistic 

Intercept -72.143 83.9292 -0.8596 

Sales 0.1123 0.0176 6.3807 

Cost 0.2453 0.0114 21.5175 

Random Effect: 

Firm 1: (-172.9431) 

Firm 2:  (-10.5077) 

Firm 3: (-11.7421) 

Firm 4: 169.5642 

Firm 5: 14.8572 

Firm 6: 10.7715 

R2= 0.9323 

 

(i) समाश्रयण मॉडि क  जिखिए तथा इन परिणाम ों क  प्राप्त किने हेतु उपय ग जकए गए 

यादृखिक प्रभाव मॉडि (ECM) क  समझाइए। 

(ii) सवाजनष्ठ अन्तः िण्ड के मान क  समझाइए।  

(iii) फमा 1 व फमा 4 हेतु यादृखिक प्रभाव ों के मान ों क  समझाइए। 

(iv) सभी 6 फमों हेतु आकजित यािखिक प्रभाव ों के मान ों का य गफि ज्ञात कीजिए। अपने 

परिणाम ों क  समझाइए।  

(v) FEM व ECM के मध्य चयन हेतु एक औपचाररक परीक्षण की रुपरेिा दीजजए। 
शून्य व वैकखिक परिकिनाओों क  स्पष्टतः  जिखिए। यजि इस मॉडि हेतु हॉसमैन 

पिीक्षण प्रजतिशाि = 4.786217 (d.f =2) है, त  5% साथाकता स्ति पि अपने 

परिणाम ों की व्याख्या कीजिए।  

  

 (b) एक शोधकताि कॉब-डगलस उत्पादन फलन हेतु ननम्नललखित दो कायाित्मक रूपों को आकललत 
 करता है: 

  Model 1:    Qi =  A1 + A2(labour) + A3(capital) + ui  
  Model 2:    ln (Qi) =  B1 + B2 ln(labour) + B3ln(capital) + vi 

 

(i) क्या हम R2 के मान के आधार पर इन दो मॉडलों में स ेचयन कर सकते हैं? 

(ii) कौनसा कायाात्मक रूप बेहति है, इसका चयन किने हेतु जकए िाने वािे पिीक्षण के चिण ों की रुपिेिा 

िीजिए।  
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(iii) 100 फमों हेतु अनुप्रस्थ आाँकडों की सहायता से इन दो मॉडलों हेतु प्राप्त अर्लशष्ट र्गियोग के 
मान ननम्न प्रकार हैं: 

RSS 

Log-linear Model :    2.3352 

Linear Model        :    2.6891 

 इन ि  मॉडि ों के मध्य चयन हेतु भाग (ii)  में जिए गए औपचारिक पिीक्षण का उपय ग कीजिए। शून्य व 

 वैकखिक पिीकिनाओों क  स्पष्टतः  जिखिए। 1% साथाकता स्ति का उपय ग कीजिए। (आपक  जिया हुआ 

 है जक ln(1.15155)=0.14111). 

(iv)  मॉडल 2 में यहद आपको यह लगता है कक शोधकताि को एक अन्य व्याययाकारी चर ‘energy’ क  

मॉडि में शाजमि किना चाजहए, त  समझाइए जक आप छ डे गए चि ों हेतु LM पिीक्षण जकस प्रकाि किें गे। 

          (9.5+9.25) 

 

Q4. (a) Consider the following model to estimate demand for real cash balance: 

𝑀𝑡 = 𝛼 +  𝛽1𝑌𝑡
∗ + ᴜ𝑡 

where, M = demand for real cash balances 

               𝑌𝑡
∗= expected real income and t  = time 

(i)  If expected income is formed according to adaptive expectations hypothesis 

 derive the short run demand function for real cash balances.  

(ii)  On the basis of quarterly data collected from 1971 to 1980, short run demand 

 for real cash balances is estimated as follows: 

𝑀𝑡̂ =  −1342.15 +  0.6134 𝑌𝑡 +  0.4216 𝑀𝑡−1 

 Calculate and interpret the coefficient of expectation and write down the  

 long run demand function for real cash balances.  

(iii) Interpret the coefficient of  𝑌𝑡 in the estimated short and long run demand 

 functions for real cash balances. 

(iv)  Explain how to detect autocorrelation in an adaptive expectations model. Why 

 cannot we use the Durbin Watson d Statistic? 

(v)  Given that Durbin -Watson d Statistic = 1.1054, calculate Durbin’s h statistic. 

 Test your null hypothesis at 5% level of significance.  

 

(b)  (i) Show how Recursive Least Squares can be used to check for the point of  

  structural break in a time series.  

(ii) To study the rate of growth of savings of a country over the period   

 1981-2000(both years inclusive), the following model was estimated: 

      ln S = 200.73 + 0.012t 

                      (se)    (0.5747)  (0.004)             RSS=98.212 

where ln = natural log, S = Savings in crores of Rupees, t = trend variable. 

Suppose the researcher also estimated separate regressions for two  time periods and 

found: 

   1981-1990   RSSa :   18.263 

                     1991-2000   RSSb:    36.752 

 Apply the Chow test to see if there is evidence of a structural break in1991. Choose 

5% level of significance and state your conclusion.       

          (9.5+9.25) 
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(a) वास्तजवक नकि शेि हेतु माोंग आकजित किने हेतु जनम्नजिखित मॉडि पि जवचाि कीजिए: 

𝑀𝑡 = 𝛼 +  𝛽1𝑌𝑡
∗ + ᴜ𝑡 

 िहााँ, M = वास्तजवक नकि शेि हेतु माोंग 

               𝑌𝑡
∗= प्रत्याजशत वास्तजवक आय 

                t  = समय 

(i) यजि प्रत्याजशत आय का जनमााण अनुकूिनशीि प्रत्याशा परिकिना के अनुसाि जकया िाता 

है त  वास्तजवक नकि शेि हेतु अिकािीन माोंग फिन क  वु्यत्पन्न कीजिए। 

(ii) 1971 से 1980 की अर्र्ध हेतु तै्रमालसक आंकडों के आधार पर आकललत 
र्ास्तवर्क नकद शेर्ष मांग फलन ननम्न प्रकार है: 

𝑀𝑡̂ =  −1342.15 +  0.6134 𝑌𝑡 +  0.4216 𝑀𝑡−1 

   (se)       (412.61)       ( 0.1497)      (0.0302) 

  प्रत्याशा के  गुणाोंक क  ज्ञात कीजिए व समझाइए तथा वास्तजवक नकि शेि हेतु  

  िीघाकािीन माोंग फिन क  जिखिए।  

(iii) वास्तजवक नकि शेि हेतु आकजित अिकािीन व िीघाकािीन माोंग फिन ों में  𝑌𝑡 के 

गुणाोंक की व्याख्या कीजिए। 

(iv) समझाइए जक अनुकूिनशीि प्रत्याशा मॉडि में स्वसहसम्बन्ध का पता जकस प्रकाि 

िगाया िाता है। हम डजबान-वॉि्सन के  d प्रजतिशाि का उपय ग क्य ों नही ों कि सकते? 

(v) जिया हुआ है जक डजबान वॉि्सन का d प्रजतिशाि = 1.1054, त  डजबान के h प्रजतिशाि 

की गणना कीजिए। अपनी शून्य परिकिाना का 5% साथाकता स्ति पि पिीक्षण कीजिए।  

 (b) (i) दशािइए कक पनुरार्ती न्यूनतम र्गि वर्नि की सहायता से ककस प्रकार कालशे्रणी में 
  संरचनात्मक पररर्तिन के बबन्द ुकी जााँच की जा सकती है।  

  (ii) अवजध 1981-2000 (ि न ों विों क  सखिजित किते हुए) में  जकसी िेश में बचत की वृखि 

   िि का अध्ययन किने हेतु जनम्नजिखित मॉडि क  आकजित जकया गया: 

      ln S = 200.73 + 0.012t 

                      (se)    (0.5747)  (0.004)             RSS=98.212 

      िहााँ ln = natural log, S = Savings, करोड रुपयों में, t = trend variable 

     मान िीजिए जक श धकताा ने ि  िघुति अवजधय ों हेतु अिग समाश्रयण भी आकजित जकए 

   तथा पाया जक: 

   1981-1990   RSSa :   18.263 

                     1991-2000   RSSb:    36.752 

             क्या 1991 में सोंिचनात्मक परिवतान का क ई प्रमाण है, यह िेिने हेतु चाउ का पिीक्षण 

   िगाइए। 5% साथाकता स्ति का उपय ग कीजिए तथा अपने जनष्किा क  जिखिए।   

            

           (9.5+9.25) 

 

Q5. (a)  A researcher collects panel data of 3 firms over 8 years from 2005 to 2012 to 

  estimate a revenue function: 𝑅𝑖𝑡 = 𝛽1 + 𝛽2𝐼𝑖𝑡 + 𝛽3𝐴𝑖𝑡 + 𝑢𝑖𝑡 

  Where R is revenue of firm in Rs. Lacs, I is R&D expenditure in Rs. ‘000 and 

  A is advertising expenditure in Rs.’000. 

 (i) Write down the Fixed Effects regression model allowing cross section 

  effects and explain the model. 

 (ii) How can Fixed Effects model allow for time dimension for this panel 

  data? Specify the regression equation incorporating time intercept  

  dummies. After allowing for these cross section and time dummies 

  how many degrees of freedom are there in the estimated model? 
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(iii) Write down the regression model if Fixed Effects Within Group model 

is used and explain how the model accounts for unobserved 

heterogeneity.  

       (b)  Consider the k-variable linear regression model: 

𝒚 = 𝑿𝜷 + 𝒖   i = 1,2, … . . n 

(i) Given 𝜷̂ = (𝑿′𝑿)−𝟏𝑿′𝒚 show that the OLS estimator 𝜷̂ is an unbiased 

estimator of 𝜷 .Show that variance-covariance (𝜷̂) = 𝜎2(𝑿′𝑿)−𝟏  

(ii) Given : n=10 , k=2 and  

𝜷̂′𝑿′𝒚 = 174.4   ∑ Yi = 40  ∑ 𝑌𝑖
2 = 176 

Calculate ESS, RSS and TSS and find the value of R2. Write down the 

ANOVA table and test overall significance of regression at 5% level of 

significance. 

        (9.5+9.25) 

 

(a)  एक श धकताा िािस्व फिन 𝑅𝑖𝑡 = 𝛽1 + 𝛽2𝐼𝑖𝑡 + 𝛽3𝐴𝑖𝑡 + 𝑢𝑖𝑡 का आकिन किने हेतु 3 फमों 

 हेतु 2005 से 2012 के 8 विा के आाँकडे एकत्र किता है, िहााँ R फमा का िािस्व है िाि रुपय ों 

 में, I,  R&D व्यय है ‘000 रुपय ों में तथा A जवज्ञापन व्यय है,’000 रुपयों में। 
(i)  अनपु्रस्थ प्रभार्ों र्ाल ेजस्थर प्रभार् समाश्रयण मॉडल को ललखिए तथा इस मॉडल 
  को समझाइए। 
(ii)   इस खस्थि प्रभाव मॉडि में समय आयाम (time dimension) को ककस प्रकार  
  सजम्मललत ककया जा सकता है? समय के अन्तः िण्ड मूक चि ों क  सखिजित किते 

  हुए समाश्रयण समीकिण जिखिए। इन अनुप्रस्थ व समय मूक चि ों क  सखिजित किने के 

  बाि आकजित मॉडि में जकतनी स्वातोंत्र्य क जियााँ हैं? 

(iii) यजि खस्थि प्रभाव समूह-के-अन्दि (Fixed Effects Within Group) मॉडल का  
  उपयोग ककया जाता है तो समाश्रयण मॉडल को ललखिए तथा समझाइए कक ककस 
  प्रकार यह मॉडल अप्रके्षक्षत वर्जातीयता (unobserved heterogeneity) को  
  सजम्मललत करता है।  

       (b)  k-चि ों वािे िेिीय समाश्रयण मॉडि: 

𝒚 = 𝑿𝜷 + 𝒖   i = 1,2, … . . n 

  पि जवचाि कीजिए। 

(i) यजि यह जिया हुआ है जक 𝜷̂ = (𝑿′𝑿)−𝟏𝑿′𝒚 त  िशााइए जक OLS आकिक 𝜷̂, 𝜷 

का एक अनजभनत आकिक है। िशााइए जक . variance-covariance (𝜷̂) = 

𝜎2(𝑿′𝑿)−𝟏  

(ii) यजि : n=10 , k=2 तथा  

𝜷̂′𝑿′𝒚 = 174.4   ∑ Yi = 40  ∑ 𝑌𝑖
2 = 176 

त  ESS, RSS व TSS की गणना कीजिए तथा R2 का मान ज्ञात कीजजए। 
ANOVA सारिणी जिखिए तथा इस समाश्रयण की समग्र साथाकता का  5% साथाकता 

स्ति पि पिीक्षण कीजिए। 

        (9.5+9.25) 
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Q6. (a)  Consider the simple regression model:  

𝑌𝑖 =  𝛼 + 𝛽𝑋𝑖 + 𝑢𝑖 

        Suppose X and 𝑢 are correlated. Let Z be an instrumental variable for X. 

  (i) State and explain the conditions that must be satisfied for Z to be an IV 

   for X. 

  (ii) Derive the IV estimator for 𝛼 𝑎𝑛𝑑 𝛽 

(iii) From a sample of 100 observations, the following data are obtained: 

∑ 𝑌2 = 350, ∑ 𝑋2 = 400, ∑ 𝑍2 = 400 

             ∑ 𝑋 = 100, ∑ 𝑌 = 100, ∑ 𝑍 = 50, 

           ∑ 𝑋𝑌 = 150, ∑ 𝑍𝑌 = 150 , ∑ 𝑍𝑋 = 200  
  Obtain the IV estimators of 𝛼 𝑎𝑛𝑑 𝛽. 

(iv)   What is the significance of the value of 𝑅𝑋𝑍
2  

for the variance of IV 

estimator of 𝛽? What is the estimated value of 𝑅𝑋𝑍
2  in the sample data 

given in (iii) above? 

 

(b)  Suppose   𝑌𝑖
∗   = 𝛼 +  𝛽𝑋𝑖

∗ + 𝑤𝑖. If there are measurement errors in both  

  dependent and independent variables so that: 

       𝑌𝑖 =    𝑌𝑖
∗ + 𝑢𝑖    𝑎𝑛𝑑     𝑋𝑖 =    𝑋𝑖

∗ +  𝑣𝑖   

  where  Yi,  Xi are observed variables and   𝑢𝑖 , 𝑣i are measurement errors in Yi
∗and 

  Xi
∗ respectively. So, in the observed form, the model is: 

   𝑌𝑖   = 𝛼 + 𝛽(  𝑋𝑖 − 𝑣𝑖) +  𝑤𝑖 + 𝑢𝑖 

                                                           = 𝛼 + 𝛽  𝑋𝑖 + (𝑤𝑖 + 𝑢𝑖 −  𝛽𝑣𝑖) 

  Assuming that, E(wi) = 0 , E(wi
2) = σw

2   Cov (wi ,wj)=0 

  E(ui) = E(vi) = 0 , E(ui
2) = σu

2  , E(vi
2) = σv

2  

  Cov (ui , vi)=0     Cov (Y∗, ui)=0     Cov(X∗, vi)=0   Cov (vi,Y
∗)=0      

  Cov (ui,X
∗)=0 Cov (wi , ui)=0 Cov (wi , vi)=0  Cov (X , wi)=0 Cov (X∗, wi)=0      

(i) Show that in large samples: 

              𝑝𝑙𝑖𝑚𝛽̂ =
𝛽

1+
𝜎𝑣

2

𝜎
𝑋∗
2

  

(ii) As 𝑛 → ∞, will the estimated 𝛽 tends towards equality with the true 𝛽? 

What can you say about the nature of bias in 𝛽̂ ?  

 

          (9.5+9.25) 

 

(a)  सिि समाश्रयण मॉडि:  

𝑌𝑖 =  𝛼 + 𝛽𝑋𝑖 + 𝑢𝑖  

पर जवचाि कीजिए। मान िीजिए जक X व 𝑢 सहसम्बखन्धत हैं। मान िीजिए जक Z, X हेतु एक याबंत्रक चर है।  

  (i) Z िािा X हेतु एक IV होने हेतु आर्श्यक शतों को ललखिए र् समझाइए। 
  (ii) 𝛼 व 𝛽 हेतु IV आकलक व्यतु्पन्न कीजजए। 

(iii) 100 पे्रक्षण ों के एक प्रजतिशा से जनम्नजिखित आाँकडे प्राप्त हुए: 

∑ 𝑌2 = 350, ∑ 𝑋2 = 400, ∑ 𝑍2 = 400 

             ∑ 𝑋 = 100, ∑ 𝑌 = 100, ∑ 𝑍 = 50, 
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           ∑ 𝑋𝑌 = 150, ∑ 𝑍𝑌 = 150 , ∑ 𝑍𝑋 = 200  

  𝛼 व 𝛽 के IV आकलक ज्ञात कीजजए।  
(iv)   𝛽 के IV आकलक के प्रसरण हेतु 𝑅𝑋𝑍

2  के मान की क्या साथिकता है? ऊपि 

भाग (iii) में जिए गए प्रजतिशा आाँकड ों हेतु 𝑅𝑋𝑍
2  का आकजित मान क्या है? 

 

(b) मान लीजजए कक   𝑌𝑖
∗   = 𝛼 + 𝛽𝑋𝑖

∗ + 𝑤𝑖. जनभाि व स्वतन्त्र ि न ों चि ों में मापन तु्रजियााँ हैं, जिससे जक: 

       𝑌𝑖 =    𝑌𝑖
∗ + 𝑢𝑖    𝑎𝑛𝑑     𝑋𝑖 =    𝑋𝑖

∗ +  𝑣𝑖   

  िहााँ   Yi,  Xi पे्रजक्षत चि हैं तथा   𝑢𝑖 , 𝑣i क्रमशः  Yi
∗ व  Xi

∗ में मापन तु्रजियााँ हैं। अतः , 

 पे्रजक्षत चि ों के रूप में मॉडि जनम्न प्रकाि हैः  

   𝑌𝑖   = 𝛼 + 𝛽(  𝑋𝑖 − 𝑣𝑖) +  𝑤𝑖 + 𝑢𝑖 

                                                           = 𝛼 + 𝛽  𝑋𝑖 + (𝑤𝑖 + 𝑢𝑖 −  𝛽𝑣𝑖) 

  यह मानते हुए जक, E(wi) = 0 , E(wi
2) = σw

2   Cov (wi ,wj)=0 

  E(ui) = E(vi) = 0 , E(ui
2) = σu

2  , E(vi
2) = σv

2  

  Cov (ui , vi)=0     Cov (Y∗, ui)=0     Cov(X∗, vi)=0   Cov (vi,Y
∗)=0      

  Cov (ui,X
∗)=0 Cov (wi , ui)=0 Cov (wi , vi)=0  Cov (X , wi)=0 Cov (X∗, wi)=0      

(i) िशााइए जक बडे प्रजतिशों में: 𝑝𝑙𝑖𝑚𝛽̂ =
𝛽

1+
𝜎𝑣

2

𝜎
𝑋∗
2

  

(ii) िब 𝑛 → ∞, त  क्या आकजित 𝛽 वास्तजवक 𝛽 के साथ बिाबिी की ओि प्रवृत्त ह ता है? आप 𝛽̂ में 

अजभनजत की प्रकृजत के बािे में क्या कह सकते हैं?  

 

          (9.5+9.25) 



SET A 

Sr. No. of Question Paper: 

Unique Paper Code   : 12277506 

Name of the Course   : B. A. (H) Economics 

Name of the Paper   : International Economics 

Semester    : V 

Duration: 3 Hours       Maximum Marks: 75 

 

Attempt any four questions in all. 

All questions carry equal marks. 

िकÛहीं चार प्रæनɉ के उƣर दीिजये।  

सभी प्रæनɉ के अंक समान हɇ।  

1. The President of Riceland is very fond of rice and hence has given the license to produce 
rice only to her own nephew, Mr. Brown. Even the international trade in rice is not allowed. 
Following is the demand that Mr. Brown faces for rice: D=10-P. He faces a total cost, given 
by C = 3+Q+0.5Q2. People of Riceland were revolting against this obsession for rice for 
their President, which, one day, eventually resulted in opening up of trade in rice, at the 
competitive world price level of 3 $. However, the obsession of rice for the President forced 
her to limit the amount of rice traded in the market to one unit, and she gave the license to 
trade to Mr. Brown only. Discuss the pattern of trade in rice for Riceland under free trade 
and restricted trade situations. Compare the profits/losses of Mr. Brown under the 
following four conditions and which will be the best scenario that he would like the 
President of Riceland to go for: (a) No trade situation; (b) Free trade situation; (c) 
Restricted trade, when from Riceland, only Mr. Brown can trade in the international 
market; (d) Tariff that will leave the quantity imported the same as under quota limit of 
one unit? If the President of Riceland is more concerned about national welfare, which of 
the above four situations she would choose? 

राइसलɇड के राçट्रपित चावल के बहुत शौकीन हɇ और इसिलए उÛहɉने केवल अपने ही भतीजे, Įी ब्राउन 
को चावल का उ×पादन करने का लाइसɅस िदया है। यहां तक िक चावल मɅ अंतरार्çट्रीय åयापार की भी 
अनुमित नहीं है। Įी ब्राउन के समक्ष चावल के िलए िनàनिलिखत मांग है: D=10-P। उनके िलए कुल 
लागत C = 3+Q+0.5Q2 ɮवारा दी गयी है। राइसलɇड के लोग अपने राçट्रपित के िलए चावल के इस 
जुनून के िखलाफ िवद्रोह कर रहे थे, िजसके पिरणामèवǾप, एक िदन, अंततः चावल का åयापार $ 3 के 



प्रितèपधीर् िवæव èतर पर खोला गया। हालांिक, राçट्रपित के िलए चावल के जुनून ने उÛहɅ बाजार मɅ 
åयापार िकए जाने वाले चावल की मात्रा को एक इकाई तक सीिमत करन ेके िलए मजबूर िकया, और 
उÛहɉने केवल Įी ब्राउन को åयापार करने का लाइसɅस िदया। मुक्त åयापार और प्रितबंिधत åयापार 
िèथितयɉ के तहत राइसलɇड के िलए चावल åयापार के पैटनर् पर चचार् करɅ। िनàनिलिखत चार शतɟ के 
तहत Įी ब्राउन के लाभ / हािन की तुलना करɅ और यह बताए िक वह सबसे अÍछा पिरǺæय क्या होगा 
िजसको वह राइसलɇड के राçट्रपित के िलए पसंद करेगा: (a) कोई åयापार की िèथित नहीं; (b) मुक्त 
åयापार की िèथित; (c) प्रितबंिधत åयापार, जब राइसलɇड से, केवल Įी ब्राउन अंतरार्çट्रीय बाजार मɅ 
åयापार कर सकते हɇ; (d) वह टैिरफ िजसके अंतगर्त आयात की गई मात्रा कोटा सीमा के तहत एक 
यूिनट के समान हो? यिद राइसलɇड के राçट्रपित राçट्रीय कãयाण के बारे मɅ अिधक िचिंतत हɇ, तो वह 
उपरोक्त चार िèथितयɉ मɅ से िकसका चयन करɅगे? 

2. (a) Two countries A and B produce five commodities. Labour is the only factor of 
production. The unit labour requirements for each of the five goods in the two countries is 
given below:  

Commodities Unit labour requirement in 
Country A 

Unit labour requirement in 
Country B 

Apple  10 8 
Wheat 2 20 
Cloth 5 15 
Dates 3 24 
Cement  5 10 

The relative wage in Country A is five times that of Country B. Determine the pattern of 
trade between the two countries in the absence of trade costs. If trade costs of 100 percent 
are added to wheat and to cloth how does the trade pattern change? 

(b) Country X, which is a new entrant in the smartphone market, is planning to launch its new 
smartphone in the international market. However, it has a threat that Country Y (which is 
an incumbent) might launch a similar smartphone and can capture the international market. 
Following matrix shows the payoffs of the two countries for launching the smartphone. 
What is the amount of subsidy that Country X should give to its producers to deter the entry 
of Country Y in the international market? Is this subsidy justifiable given that Country Y 
is incumbent in the market? Discuss 

  Country X 
  Launch Do not launch 

Country Y 
Launch (-10,-10) (150,0) 
Do not launch (0,150) (0,0) 



(a) दो देश A और B पांच वèतओुं का उ×पादन करते हɇ। Įम उ×पादन का एकमात्र कारक 
है। दोनɉ देशɉ मɅ पाँच वèतुओ ंमɅ से प्र×येक के िलए इकाई Įम आवæयकताए ँनीचे दी गई 
हɇ: 

 वèत ु  देश A मɅ Įम इकाई आवæयकता देश B मɅ Įम इकाई आवæयकता 
Apple  10 8 
Wheat 2 20 
Cloth 5 15 
Dates 3 24 
Cement  5 10 

 

देश A मɅ सापेिक्षक मजदरूी देश B की मजदरूी की पांच गुना है जो िक åयापार लागत की 
अनुपिèथित मɅ दोनɉ देशɉ के बीच åयापार के पटैनर् का िनधार्रण करता है। यिद 100 
प्रितशत åयापार की लागत को  गेहंू और कपड़ ेकी कीमतɉ मɅ जोड़ा जाता है तो åयापार 
पैटनर् िकस प्रकार बदलता है? 

 

(b) देश X, जो िक èमाटर्फोन बाजार मɅ एक नवागतुंक है, अपने नए èमाटर्फोन को अतंरार्çट्रीय 
बाजार मɅ लॉÛच करने की योजना बना रहा है। हालांिक, यह एक खतरा है िक कंट्री Y (जो 
िक एक अवलबंी है) एक समान èमाटर्फोन लॉÛच कर सकता है और अतंरार्çट्रीय बाजार पर 
कÞजा कर सकता है। िनàनिलिखत मिैट्रक्स èमाटर्फोन को लॉÛच करन ेके िलए दोनɉ देशɉ 
के भगुतान को दशार्ता है। अतंरार्çट्रीय बाजार मɅ कंट्री Y के प्रवेश को रोकन ेके िलए कंट्री 
X को अपन ेउ×पादकɉ को िकतनी सिÞसडी देनी चािहए? बाजार मɅ Y देश के एक अवलबंी 
देश होन ेकी िèथित मɅ क्या यह सिÞसडी Ûयायोिचत है? चचार् करɅ।  

  देश  X 
  लॉÛच करता है  लॉÛच नहीं करता है 

देश Y 
लॉÛच करता है (-10,-10) (150,0) 

लॉÛच नहीं करता है (0,150) (0,0) 

 
3. (a) Narrowland, Broadland and Wideland are the only three laptop producing countries in 

the world. The three countries have the same production technology for every firm, and 
face the same demand conditions. The annual sales of Narrowland, Broadland and 
Wideland are 100000, 900000, and 400000 laptops respectively. Fixed cost and marginal 
cost of production of laptops for each firm in each country are 10000 and 1000 respectively; 



and the degree of responsiveness of each firm’s sales to its price, vis-à-vis other firms is 
1/10. (i) Calculate the equilibrium number of firms in the three countries before trade. (ii) 
What is the equilibrium price in these countries under autarky? (iii) Calculate the total 
number of firms after the economies are opened up to trade and the equilibrium price. (iv) 
How will your answer to the above parts change if the marginal cost of production of laptop 
for every firm increases to 2000?  
(b) A country produces two goods: Cars (using labour and machines) and Microchips 
(using labour and computers). There is an exogenous increase in demand for microchips in 
the world market. Explain income distribution effects of this change with the help of a 
diagram.  

(a) नैरोलɇड, ब्रॉडलɇड और वाइडलɇड दिुनया मɅ केवल तीन लपैटॉप उ×पादक देश हɇ। तीनɉ देशɉ 
मɅ हर फमर् के िलए एक ही उ×पादन तकनीक है, और एक समान मागं की िèथित है। 
नैरोलɇड, ब्रॉडलɇड और वाइडलɇड की वािषर्क िबक्री क्रमशः 100000, 900000 और 400000 
लैपटॉप हɇ। प्र×येक देश मɅ प्र×येक फमर् के िलए लपैटॉप के उ×पादन की िनिæचत लागत 
और सीमातं लागत क्रमशः 10000 और 1000 हɇ और प्र×येक फमर् की कीमत के िलए िबक्री 
की अनिुक्रयाशीलता की िडग्री, अÛय कंपिनयɉ की तलुना मɅ 1/10 है। 
(i) åयापार से पहले तीनɉ देशɉ मɅ साàय मɅ कंपिनयɉ की सखं्या की गणना करɅ। (ii) आ×म-
िनभर्रता की िèथित मɅ इन देशɉ मɅ सतंुलन की क्या कीमत है? (iii) अथर्åयवèथाओं के बीच 
åयापार खुलने के बाद कंपिनयɉ की कुल सखं्या और सतंुलन की कीमत की गणना करɅ 
(फमɟ की नीचे की तरफ िनकटतम पूणर् सखं्या) । (iv) उपरोक्त फमɟ के िलए यिद हर 
फमर् के िलए लपैटॉप के उ×पादन की सीमांत लागत 2000 तक बढ़ जाती है तो आपका 
उƣर कैसे पिरवितर्त होगा? 

(b) एक देश दो वèतओु:ं कारɅ (Įम और मशीनɉ का उपयोग कर के) और माइक्रोिचÜस 
(Įम और कंÜयूटर का उपयोग कर के) का उ×पादन करता है । िवæव बाजार मɅ माइक्रोिचÜस 
की मांग मɅ भारी वɮृिध होती है। आरेख की सहायता से इस पिरवतर्न के आय िवतरण पर 
प्रभाव की åयाख्या करɅ। 

4. (a) Pinkland and Blueland are two countries producing earphones, having the following 
demand and supply conditions:  

Pinkland:  DD: Qd = 100-20P 
SS: Qs = 20+20P 

Blueland:  DD: Qd = 80-20P 
SS: Qs = 40+20P 



(i) Given this information, what will be the world equilibrium price and quantity 
traded?  

(ii) Given that the fixed cost of setting up a production chain of earphones by exporting 
country in importing country is $15, and the cost of transportation is $0.5 per 
earphone exported, which mode the exporting country will prefer and why: 
exporting earphones or producing earphones in importing country itself? Give 
reasons for your answer. 

(b) An importer in India buys mobile phones from the US and sells them in the domestic 
market. The current spot exchange rate between India and the US is Rs. 5000 for $100. The 
importer can sell each phone in the domestic market for Rs. 15000, while his current 
purchase price is $200 per phone. However, he does not have ready cash to pay until the 
shipment arrives but by then the rupee depreciates such that he incurs a loss of Rs 200 per 
phone. Calculate the new exchange rate.  

             (a) िपकंलɇड और Þललुɇड दो देश हɇ जो आकणर्कɉ का उ×पादन कर रहे हɇ, िजनकी    
 मांग और आपिूतर् की िèथित इस प्रकार है: 

  िपकंलɇड: DD: Qd = 100-20P 

SS: Qs = 20+20P 

     Þललुɇड: DD: Qd = 80-20P 

SS: Qs = 40+20P 

    (i) इस जानकारी के मɮदेनजर,िवæव सतंुलन मãूय और åयापार की मात्रा ज्ञात 
 कीिजये? 
    (ii) इस बात के मɮदेनजर िक िनयार्तक देश के िलए आयात करने वाले देशɉ मɅ 
 आकणर्कɉ की उ×पादन Įृखंला èथािपत करने की िनधार्िरत लागत $15 है, 
 और िनयार्त की पिरवहन की लागत $0.5 प्रित आकणर्क है, िनयार्तक देश क्या 
 करना पसदं करेगा और क्यɉ: आकणर्कɉ का िनयार्त या आयात करन ेवाले  देशɉ मɅ 
 आकणर्कɉ का उ×पादन? अपने जवाब के िलए कारण दीिजये। 

 

(b) भारत मɅ एक आयातक अमेिरका से मोबाइल फोन खरीदता है और उÛहɅ घरेलू बाजार 
मɅ बेचता है। भारत और अमेिरका के बीच वतर्मान èपॉट िविनमय दर $ 100 के िलए ǽ. 
5000 है। आयातक घरेल ूबाजार मɅ प्र×येक फोन को 15000 ǽपये मɅ बेच सकता है। जबिक 
उसकी वतर्मान खरीद मãूय 200 डॉलर प्रित फोन है। हालाँिक, उसके पास िशपमɅट के आने 



तक भगुतान करन ेके िलए नकदी नही ंहै, लेिकन िशपमɅट के आन ेतक ǽपये का इतना 
अवमãूयन हो जाता है िक उसे प्रित फोन 200 ǽपये का नुकसान उठाना पड़ता है। नई 
िविनमय दर की गणना करɅ। 
 
 

5. (a) An imaginary open economy Azaria operates at full employment in the short run but 
finds a temporary increase in the demand for its output in the world market. What policy 
options does it have to return to full employment? How is the exchange rate affected? 
(b) Monetary authorities decide to merge many commercial banks into four or five large 
banks. Assess the efficacy of this policy. 
(c) Bring out the difference between perfect asset substitutability and imperfect asset 
substitutability in an open economy. The Central Bank of Hippoland undertakes a sterilized 
purchase of foreign assets. With the help of diagrams, compare and explain the outcome of 
the same under the assumptions of perfect and imperfect asset substitutability.  

(a) एक काãपिनक खुली अथर्åयवèथा अजिरया कम समय मɅ पूणर् रोजगार की िèथित मɅ 
है लेिकन िवæव बाजार मɅ इसके उ×पादन की मांग मɅ अèथायी वɮृिध हो जाती है। पूणर् 
रोजगार की िèथित मɅ वािपस लौटने के िलए इसके पास कौन से नीित िवकãप हɇ? िविनमय 
दर कैसे प्रभािवत होती है? 

(b) मौिद्रक प्रािधकरण कई वािणिÏयक बɇकɉ को चार या पाचँ बड़ ेबɇकɉ मɅ िवलय करन ेका 
िनणर्य लेते हɇ। इस नीित की प्रभावकािरता का आकलन करɅ। 
(c) एक खुली अथर्åयवèथा मɅ पूणर् पिरसपंिƣ प्रितèथापन और अपूणर् पिरसपंिƣ प्रितèथापन 
के बीच अतंर कीिजये। िहÜपोलɇड केÛद्रीय बɇक न ेिवदेशी सपंिƣयɉ की एक िनजर्लीक्रत खरीद 
की है। आरेखɉ की सहायता से, पूणर् और अपूणर् सपंिƣ प्रितèथापन की माÛयताओ ंके तहत 
इसके पिरणाम की तुलना और åयाख्या करɅ। 
 

6. (a) Discuss the efficacy of fiscal and monetary policies under a fixed exchange rate regime, 
characterized by perfect capital mobility, using AA-DD diagram. 
(b) Firms exporting to Agriland are not willing to change prices despite a nominal exchange 
rate depreciation in Agriland. How do you explain this phenomenon? Do you think that the 
firms exporting to Agriland will behave in a similar manner if there was an exchange rate 
appreciation in Agriland? Explain.  
(c) Should the governments be concerned beyond the soundness of individual financial 
institutions? What is your opinion in this regard in the context of the changing international 
regulatory environment? 



(a) पूणर् पूजंी गितशीलता की िèथित मɅ एए-डीडी आरेख का उपयोग करके एक िनिæचत 
िविनमय दर पɮयित के तहत राजकोषीय और मौिद्रक नीितयɉ की प्रभावकािरता पर चचार् 
करɅ ।  

(b) एग्रैलɇड को िनयार्त करने वाली फ़मɏ एग्रलɇड मɅ मामलूी िविनमय दर मãूयıास के बावजूद 
अपनी कीमतɉ मɅ पिरवतर्न की इÍछुक नहीं हɇ। आप इस घटना को कैसे समझात ेहɇ? क्या 
आपको लगता है िक एग्रीलɇड को िनयार्त करने वाली फ़मɏ एग्रीलɇड की िविनमय दर 
अिभमãूयन की िèथित मे भी इसी तरह से åयवहार करɅगी? समझाइए।  

(c) क्या सरकारɉ को åयिक्तगत िवƣीय सèंथानɉ की सǺुढ़ता से परे िचिंतत होना चािहए? 

बदलत ेअंतरराçट्रीय िनयामक पयार्वरण के सदंभर् मɅ इस सबंधं मɅ आपकी क्या राय है? 

 

 

 



Name of the course: English (Hons) III Year 
Name of the paper: British Literature: Post World War II (DSE) 
Unique Paper Code : 12037503 
Semester: V 
Marks: 75 
Time limit: 3+1 (one hour reserved for downloading of question paper, 
scanning and uploading of answer sheets) 

 
Attempt any THREE questions.  
All questions carry equal marks. Answers to be written in 750-1000 words  

 

 

1.   Sexing the Cherry does away with the convention of realism to show that 
reality is not objective "fact" but rather, a matter of interpretation. Do you 
agree? Examine with close reference to the novel. (25) 

 
2. Working-class Britain is shown to be battered by neo-liberal conservative 

policies in My Beautiful Laundrette. Do you agree? Comment with close 
reference to the text. (25) 

 
3. Discuss the multiple conclusions Fowles gives to his novel The French 

Lieutenant's Woman. Which ending is most viable in your opinion? Give a 
reasoned answer. (25) 

 
4. Using any text from the course, illustrate how themes of race, sexuality and 

gender intersect to give us a sharper understanding of the contemporary 
world. (25) 
 

5. Philip Larkin’s poetry reflects the mood of post war Britain. Discuss with 
reference to any two poems. (25) 
 

6. What are the dominant themes in post war British poetry? Discuss with 
reference to the poetry of any two poets. (25) 

 
 



Unique Paper Code : 12057505        S_B 

Name of Paper : Hkkjrh; lkfgR; dh laf{kIr :ijs[kk 

Name of Course : Hindi (Hons) 

Semester : 5 

iw.kkZad% 75                                  le; % 3 ?kaVs 

 

vko”;d funZs”k % 

1- mŸkj ds iwoZ iz”uksa dks vPNh rjg ls le>us dk iz;kl djsaA 

2- Ng iz”uksa eas ls fdUgha pkj iz”uksa ds mŸkj nsaA 

3- izR;sd iz”u 18-75 vad dk gksxkA 

 

iz”u 1 % Hkkjrh; lkfgR; eas Hkk’kkbZ vfLerk vkSj lkekfld lkaLd`frd NVk dh vn~Hkqr  

        vfHkO;fDr gSA dFku dks fo”ysf’kr dhft,A   

 

iz”u 2 % oSfnd vkSj ykSfdd laLd`r lkfgR; ds varj dks le>krs gq,] Hkkjrh; lekt 

        eas ykSfdd laLd`r lkfgR; dh Hkwfedk ij izdk”k Mkfy,A  

 

iz”u 3 % Hkkjrh; lekt eas vk/kqfudrk ls iwoZ fgUnh vkSj mnZw lkfgR; dk ifjp;  

        nhft,A 

 

iz”u 4 % Hkkjrh; lkfgR; eas Lok/khurk vkanksyu dh eq[kj vfHkO;fDr gqbZ gSA mnkgj.k 

        lfgr le>kb;sA 

 

iz”u 5 % Hkkjrh; lkfgR; ds mŸkj vk/kqfud lnHkkZsa dk foospu dhft,A 

 

iz”u 6 % e/;dkyhu lkfgR; eas ekr`Hkk’kkvksa eas laosnukRed vfHkO;fDr ds fofo/k Loj  

        vf[ky Hkkjrh; Lrj ij jpukRed lekt ds le{k mifLFkr gSaA dFku dks 

        mnkgj.k lfgr O;k[;kf;r dhft,A 
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Unique Paper Code:   12317508 

Name of the Paper:  History of the USA: Independence to Civil War (NC) 

Name of the Course:   B.A. (Hons.) History III Year(DSE) 

Semester:    V 

Duration:    3 hours 

Maximum Marks:   75 Marks 

Instructions for Candidates 

Answers may be written either in English or Hindi but the same medium should be used 

throughout the paper. 

Attempt any three questions in all. All questions carry equal marks.  

 

उत्तर या तो अंगे्रजी या ह ंदी में हिखे जा सकते  ैं िेहकन पूरे पेपर में एक  ी माध्यम का उपयोग हकया जाना 

चाह ए। 

सभी में हकसी भी तीन सवािो ंका प्रयास करें  । सभी प्रश्न समान अंक िेते  ैं । 

 

1. Examine the different forms of labour that facilitated the process of the colonization in 

America.  

अमेररका में उपहनवेशीकरण की प्रहिया को सुहवधाजनक बनाने वािे श्रम के हवहभन्न स्वरूपो की 

जांच करें। 

 

2. Discuss the causes of the American Revolution with particular reference to the British 

mercantilist regulations and responses of the local masses. 

हिहिश व्यापारवादी हवहनयमो ंऔर स्थानीय जनता की प्रहतहियाओ ं के हवशेष संदभभ में अमेररकी 

िांहत के कारणो ंपर चचाभ करें। 

 

3. Evaluate Charles Beard’s interpretation of the Constitution of 1787. What were the 

responses of his critics?  

1787 के संहवधान की चार्ल्भ हबयर्भ  व्याख्या का मूल्ांकन करें। उनके आिोचको ं की क्या  

प्रहतहियाएं थी?ं 

 

4. Comment on the American racist and ethnic bias towards the indigenous tribes. Examine 

with special reference to the resistances of the Shawnee and Cherokee tribes.   

मूलभूत कबील ों की ओर अमेररकी नस्लवादी और जातीय पूवााग्रह पर टिप्पणी कीटजए।   

शॉनी और चेर की कबील ों के प्रटतर ध के टवशेष सोंदभा में इसका परीक्षण कीटजए।  

(Or) Examine the social evolution and political participation of the immigrants in ante-

bellum  (before Civil War) America with special reference to Irish Immigrants (अथवा) 

आयररश आप्रवाहसयो ं के हवशेष संदभभ के साथ पूवभ-बेिम (गृ  युद्ध से प िे) अमेररका में 

आप्रवाहसयो ंके सामाहजक हवकास और राजनीहतक भागीदारी की जांच करें  । 
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5. Analyze critically the origins of the War of 1812. Was it a prelude to Manifest Destiny? 

1812 के युद्ध की उत्पटि का आल चनात्मक टवशे्लषण कीटजए। क्या यह मेटनफेस्ट 

डेस्टस्टनी की शुरुआत का प्रतीक था? (Or) Examine the patterns of slave resistance in 

nineteenth century America. (अथवा) उन्नीसवी ंसदी अमेररका में दास प्रहतरोध के स्वरूपो की 

जांच करें। 

 

6. Examine critically the different interpretations on the Civil War   

गृ  युद्ध पर हवहभन्न हवहभन्न इहत ासकारो ंकी व्याख्याओ ंका मूल्ांकन करें  । 

 

 

 

 

 

 

 



This question paper contains 2 printed pages           Your Roll No………………... 

S. No. of Question Paper: Set A (DSE) 

Unique Paper Code:   12317511 

Name of the Paper: Gender in Indian History up to 1500  

Semester: V 

Time: 3 Hours                                                                       Maximum Marks: 75 

  

Note:     Answers may be written either in English or in Hindi, but the same medium 

should be used throughout the paper. 

टिप्पणी:   इस प्रश्न-पत्र का उत्तर अंगे्रजी या हहदी ककसी एक भाषा में दीजजए; लेककन सभी 

उत्तरों का माध्यम एक ही होना चाजहए. 

 

Attempt three questions in all 

All questions carry equal marks 

कुल तीन प्रश्नों के उत्तर दीजजए 

सभी प्रश्नों के अंक समान हैं 

 

1. Gender is a new tool to analyse historical and social process. Comment 

ऐततहाससक और सामाजिक प्रक्रिया का विश्ऱेषण करने के सऱए ‘िेंडर’ एक नया उऩकरण है। 
टिप्ऩणी कीजिए। 
 

2. What do you understand by the term patriarchy? Explicate the structures of 

patriarchy in ancient or medieval India?  

वऩतसृत्ता शब्द से आऩ क्या समझते हैं? प्राचीन या मध्यकाऱीन भारत में वऩतसृत्ता 
की संरचना को स्ऩष्ि कीजिए? 

 

3. Could women carve out independent political space in historical frames of 

Early India? 

क्या मटहऱाएं प्रारंसभक भारत के ऐततहाससक ढांच ेमें स्ितंत्र रािनीततक स्थान बना 
सकती थी? 



 

4. In what way do the issues of masculinity enrich our understanding of India in 

ancient and medieval periods?  

     क्रकस तरह से ऩुरुषत्ि के मुदे्द प्राचीन और मध्यकाऱ में भारत की हमारी समझ को 
समदृ्ध करते हैं? 

5. Discuss gender relations in the context of different religious traditions. 

विसभन्न धासमिक ऩरम्ऩराओं के सन्दभि में ऱैग कं सम्बन्धों की चचाि करें.   
 

6. Analyse connection of power with women in Delhi Sultanate elucidating the 

role of Raziyya Sultan. 

रजिय्या सुल्तान के यो दान का स्ऩष्िीकरण करते हुए टदल्ऱी सल्तनत में नारी एि ं
सत्ता के सम्बधओं का विशऱेषण कीजिये. 
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Unique Paper Code:   12317508 

Name of the Paper:  History of the USA: Independence to Civil War (NC) 

Name of the Course:   B.A. (Hons.) History III Year(DSE) 

Semester:    V 

Duration:    3 hours 

Maximum Marks:   75 Marks 

Instructions for Candidates 

Answers may be written either in English or Hindi but the same medium should be used 

throughout the paper. 

Attempt any three questions in all. All questions carry equal marks.  

 

उत्तर या तो अंगे्रजी या ह ंदी में हिखे जा सकते  ैं िेहकन पूरे पेपर में एक  ी माध्यम का उपयोग हकया जाना 

चाह ए। 

सभी में हकसी भी तीन सवािो ंका प्रयास करें  । सभी प्रश्न समान अंक िेते  ैं । 

 

1. Examine the different forms of labour that facilitated the process of the colonization in 

America.  

अमेररका में उपहनवेशीकरण की प्रहिया को सुहवधाजनक बनाने वािे श्रम के हवहभन्न स्वरूपो की 

जांच करें। 

 

2. Discuss the causes of the American Revolution with particular reference to the British 

mercantilist regulations and responses of the local masses. 

हिहिश व्यापारवादी हवहनयमो ंऔर स्थानीय जनता की प्रहतहियाओ ं के हवशेष संदभभ में अमेररकी 

िांहत के कारणो ंपर चचाभ करें। 

 

3. Evaluate Charles Beard’s interpretation of the Constitution of 1787. What were the 

responses of his critics?  

1787 के संहवधान की चार्ल्भ हबयर्भ  व्याख्या का मूल्ांकन करें। उनके आिोचको ं की क्या  

प्रहतहियाएं थी?ं 

 

4. Comment on the American racist and ethnic bias towards the indigenous tribes. Examine 

with special reference to the resistances of the Shawnee and Cherokee tribes.   

मूलभूत कबील ों की ओर अमेररकी नस्लवादी और जातीय पूवााग्रह पर टिप्पणी कीटजए।   

शॉनी और चेर की कबील ों के प्रटतर ध के टवशेष सोंदभा में इसका परीक्षण कीटजए।  

(Or) Examine the social evolution and political participation of the immigrants in ante-

bellum  (before Civil War) America with special reference to Irish Immigrants (अथवा) 

आयररश आप्रवाहसयो ं के हवशेष संदभभ के साथ पूवभ-बेिम (गृ  युद्ध से प िे) अमेररका में 

आप्रवाहसयो ंके सामाहजक हवकास और राजनीहतक भागीदारी की जांच करें  । 
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5. Analyze critically the origins of the War of 1812. Was it a prelude to Manifest Destiny? 

1812 के युद्ध की उत्पटि का आल चनात्मक टवशे्लषण कीटजए। क्या यह मेटनफेस्ट 

डेस्टस्टनी की शुरुआत का प्रतीक था? (Or) Examine the patterns of slave resistance in 

nineteenth century America. (अथवा) उन्नीसवी ंसदी अमेररका में दास प्रहतरोध के स्वरूपो की 

जांच करें। 

 

6. Examine critically the different interpretations on the Civil War   

गृ  युद्ध पर हवहभन्न हवहभन्न इहत ासकारो ंकी व्याख्याओ ंका मूल्ांकन करें  । 

 

 

 

 

 

 

 



  

Unique Paper Code: 11017508 

Name of the Paper : Media Gender and Human Rights (DSE) CBCS  

Name of the Course: B. A (Hons) Journalism  

 Semester : V 

Duration : 3 hours  

Maximum Marks : 75 Marks  

Time Limit: 3+1 (one hour reserved for downloading of question paper, scanning and 
uploading of answer sheets) 

                                                           Instructions for candidates 
Attempt any three questions.  

All questions carry equal marks. 
          Answers to be written in 750-1000 words 

                      Write your University roll no.,name of course & Title of the paper on your answer sheet.                                           
                                                      Sign at the bottom of each page of your answer sheet. 

1. In what ways has media influenced a social institution such as religion, including 
rituals, practices and beliefs. Discuss with reference to mediatisation with some 
specific examples. 
 

2. Do you think women deserve differential access and treatment due to prevailing 
cultural attitudes about women’s bodies, their roles and their status in society? 
 
 

3. Politicians are becoming increasingly adept at packaging politics, especially with 
the popularity of social media. Discuss with examples the different techniques of 
packaging politics and the role of media in this area. 
 

4. Popular culture is rife with representations of toxic masculinity. Discuss 
construction of masculine behaviours with reference to Bollywood. 
 
 

5. Habermas’s public sphere was envisaged as a platform for rational-critical 
discourse and equal participation. Critically discuss the failures and successes of 
this concept. 
 

6. What are the different positions held by developed and developing countries 
with respect to Human Rights? Discuss with special reference to environmental 
concerns, migration and refugees. 
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Name of Course   : CBCS B.Sc. (H) Mathematics 

Unique Paper Code   : 32357503  

Name of Paper   : DSE- I, C++ Programming  

Semester    : V 

Duration    : 3 hours 

Maximum Marks   : 75 Marks 

Attempt any four questions. All questions carry equal marks. 

1. Write a function, printgrid, that takes two parameters, (one parameter is a two-dimensional 
array and the second parameter is for the number of rows) and print the following grid 

structure using repetition and controlled statements. After that call the function, printgrid,   in 
the main program.  

 
                              #     
                                 #    # 
                                 #    1# 
                                 #    1    2    # 
                                 #    1    2    3    # 
                                 #    1    2    3    4    # 
                                 #    1    2    3    4    5    # 

                                 #    1    2    3    4    5    6    # 
                                 #    1    2    3    4    5    6    7    # 

                                 #    #    #    #    #    #    #    #    #    # 

 
2. Write a function in C++ using the one dimensional array to calculate the following quantity: 

ඨ
| ∑ (𝑥௜ − 𝑥̅)ଷ|௡

௜ୀଵ

𝑛(𝑛 − 1)
 

where,  
𝑥௜ denotes the data stored in the cells of array 
𝑥̅  denotes the average of the data stored in the array 
𝑛 denotes the number of data stored in the array and 𝑛 > 1 
 

3. Write a program to find the inverse of a 3 × 3 matrix over the field  𝑍ଶଷ  entered by the user, 
if the determinant of the matrix is non-zero. The program also finds the sum of the square of 
the diagonal elements under modulo 23 of the inverse of the given matrix. 
 

4. Write a program which finds the solution of the following system of equations by matrix 
inversion method. 

2x + y + 2z = 0, 

2x – y + z = 10, 
x + 3y – z = 5. 

 

P.T.O. 
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5. Find the all errors of given program 
 

            #include<iostream>; 
       Using Namespace Std : 
void Swap(int *x, int *y): 
Intmain() 
          { 
 Int a, b, d; 
             a = 4; 
             b = 2; 
 c = c + a; 
 j = 1: 
 for(k = 1; k<=n, k++) 
                             { 
cout<<setw(4)<< j; 
          j = j + 3 
 d = d +Pow(k, 2); 
 cout<<”the Value of l in the” <<k<<”th iteration is  ”<<l<<Endl; 
                   } 
 Double p; 
 p = Sqrt{c, 3}; 
 cout<<p<<endl; 
 Cout<<”Square root of ”<< c<< “is  ”<<p<<Endl; 
int x = 5; y = 10; 
cout<< “Before swap, x: “ << x << “ y: “ << y <<Endl; 
swap(&x, &y); 
Cout<< “Main. After swap, x: “ << x << “ y: “ << y <<Endl; 
              Return 0: 

             } 
void swap (int *px, int *py) 
        { 
int temp; 
cout<< “Swap. Before swap, *px: “ << *px<<“ *py: “ << *py<<endl; 
temp = *pX 
           *pX = *pY 
           *pY = temp 
cout<< “Swap. After swap, *px: “ << *px<<“ *py: “ << *py<<endl; 
          } 
 

           Write the correct program of part (a) 

         Write the equivalent programs by using while and do... while loops. 
 

6. There are 20 students in a class. Write an appropriate code in C++ using arrays to generate the 
Internal Assessment Marks of a particular paper based on the following information: 

i. Maximum Marks of the paper=100 
ii. Roll Number, Student Name, Test Marks, Assignment Marks and Attendance Percentage 

are stored in arrays. 
iii. Maximum Marks for Test = 10% of Maximum Marks of the paper 

Maximum Marks for Assignment = 10% of Maximum Marks of the paper 
Maximum Marks for Attendance = 5% of Maximum Marks of the paper 
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Attendance Marks based on Attendance percentage is given in following table: 
 
67 % ≤ Attendance < 70 % 1 % of Maximum Marks for Attendance 

70 % ≤ Attendance < 75 % 2 % of Maximum Marks for Attendance 

75 % ≤ Attendance < 80 % 3 % of Maximum Marks for Attendance 

80 % ≤ Attendance < 85 % 4 % of Maximum Marks for Attendance 

85 ≤ Attendance 5 % of Maximum Marks for Attendance 

 
iv. Internal Assessment Marks = Test Marks + Assignment Marks + Attendance Marks 

Print the following details for each student- 
Roll Number Student 

Name 
Test Marks 
 

Assignment 
Marks 
 

Attendance 
Marks 

Internal 
Assessment 
Marks 

 



Set II 

 

Name of the Course                         B.A. (Hons.) Philosophy (CBCS)  
Semester                                                                :      V 
Name of the Paper   :                       Indian Materlism (DSE) 
                                                           
Unique Paper Code                                             :         12107504 
 

Total Marks: 75 

Maximum Duration: 3 Hours 

 

Attempt any 4 Questions in all.  

1. Discuss Ancient Indian Materialism and its Sources.  

�ाचीन भारतीय भौ�तकवाद और इसके �ोत� का वण�न क�िजये. 
2. Explain in detail the different aspects of Lokāyata Philosophy. 

लोकायत दश�न के �व�भ�न आयाम� क� �या�या कर�. 
3. What are the arguments pointed out by Jihannnes Quack concerning Atheism in 

India? 

भारत म� नाि�तकवाद के ऊपर िजहानेस �वाक के �वारा �दए गए तक� का िज� कर�. 
4. What are the characteristic features of Indian Materialism? Discuss.  

भारतीय भौ�तकवाद के �वशेष ल�ण �या ह�? वण�न क�िजये. 
 

5. How does Peter Thomson point out the arguments concerning Marxism? Give a 

detail account.  

पीटर थोमसन �कस तरह मा�स�वाद� �वचार� को इं�गत करते ह�? �व�तार पूव�क उ�लेख 
क�िजये. 

6. Discuss Periyar’s materialistic outlook. How does his philosophy shape his Self 

Respect Movement? 

पे�रयार के भौ�तवाद का उ�लेख कर�. यह उसके आ�म -स�मान अ�दोलन को �कस �कार 
�दशा देती है?   
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Set-I 

 

Name of the Course:  B.A. (Hons.) Philosophy (CBCS) 

Semester:    V 

Name of the Paper:  Indian Materialism 

Unique Paper Code:  12107504 

Total Marks: 75 

Maximum Duration: 3 + 1 Hours 

 

Attempt any 4 Questions in all.  

 

1. Discuss different aspects and thinkers of Ancient Indian materialism that gave rise to the 

Cārvāka School. 

प्राचीन भारतीय भौततकवाद के उन तवतभन्न तथ्यों और तवचारयों का वर्णन कीतिये िय चावाणक दर्णन 

के उत्पतत के कारर् थे.  
 

2. Is Vaiśeṣika a Naturalistic school? Discuss Its Metaphysical thoughts. 

क्या वैरे्तिक एक प्राकृततक दर्णन है? इस दर्णन के तत्वतवज्ञान की चचाण करें . 
 

3. What is the philosophy of Cārvāka? Analyze their world view in detail.  

चावाणक दर्णन क्या है? इसके तथ्यों का तवशे्लिर् करें . 
 

4. State the problem of defining ‘Atheism’ in India, and give a detailed account of atheistic 

movement in India.  

भारत में ‘नास्तिकता’ कय पररभातित करने में कतिनाई और भारत में नास्तिक अन्दयलन की चचाण 

करें . 

  

5. M.N Roy’s Materialism is a “Physical Realism”. Discuss while making an emphasis on 

Ethics.  

एम. एन. रॉय का भौततकवाद एक ‘र्ारीररक यथातणवाद है. उनके नीततर्ास्त्र पर ियर देते हुए चचाण 

करें .  



 

6. Write short notes on any Two of the following: 

तकन्ही दय पर सोंतर्प्त तिपण्णी करें .  

(a) Faith and the Criteria (Naredra Dabholkar)  

तवश्वास और मानदोंड (नरेन्द्र दाभयलकर) 
 

(b) Niriśvara pradhāna kāranavāda 

तनरश्वर प्रधान कारनवाद  
 

(c) Self - Respect Movement 

आत्म – सम्मान आन्दयलन  
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Set-2 

 

Name of the Course:  B.A. (Hons.) Philosophy (CBCS) 

Semester:    V 

Name of the Paper:  Indian Materialism 

Unique Paper Code:  12107504 

Total Marks: 75 

Maximum Duration: 3 + 1 Hours 

Attempt any 4 Questions in all.  

 

1. Explain why the Cãrvãka school of Philosophy is called ‘Nãstika’. 

व्याख्या कीजिए कक चार्ााक दर्ान को ‘नाजतिक’ क्यों कहा िािा है?  

 

2. Does materialism necessarily entail atheism? Discuss. 

क्या ननरीश्र्रर्ाद अननर्ायाि: िड़र्ाद में अंिननाहहि है? चचाा कीजिए  

  

3. Bring out the conception of Puruṣa and Prakṛti as principles of dualism. 

पुरुष और प्रकृनि रूपी द्र्ैि ित्त्र्ों की अर्धारणा को तपष्ट कीजिए  

 

4. Describe the features of Indian Marxism. 

भारिीय माका सर्ाद के वर्रे्षिाओं का र्णान कीजिए  

 

5. Examine the social movement inaugurated by Periyar. 

पेररयार द्र्ारा आरजभभि सामाजिक आंदोलन की परीक्षा कीजिए  

 

6. Can the Sãmkhya philosophy be re-interpreted as a theory of naturalism? Discuss.  



प्रकृनिर्ाद के रूप में क्या सामख्य दर्ान की पुनः व्याख्या कर सकिा है? चचाा कीजिए   

 

 

 



UPC                           : 12107507 

COURSE                    : B A HONS. PHILOSOPHY  

PAPER                       : PHILOSOPHY OF LAW 

SEMESTER                : 5 (3rd Yr.) 

TIME                           : 3 HRS. 

MAX. MARKS             : 75 

 

INSTRUCTIONS FOR CANDIDATES  

Answers may be written in either English or Hindi. The same 

medium should be used throughout. 

उत्तर अंगे्रजी या ह ंदी में हिखे जा सकते  ैं, िेहकन पूरे पेपर में एक  ी माध्यम का 

उपयोग हकया जाना चाह ए। 

Attempt Four questions in all. All questions carry equal marks.  

सभी में चार प्रश्ो ंका प्रयास करें। सभी प्रश्ो ंपर समान अंक  ैं। 

 

1. Explain the concept and nature of Law. 

  कानून की अवधारणा और प्रकृति की व्याख्या करें  

2. Explain according to Austin why are laws “Species of Commands.” 

आस्टिन के अनुसार समझाएं तक कानून आज्ञाओ ंकी प्रजातियााँ क्य ंहैं 

3. Elaborate the principles given by Bentham underlying Codification of 

Law. 

 बेंथम द्वारा तिए गए तसद्ांिय ंकय तवसृ्ति करें  जय कानून के संतहिाकरण कय अंितनितहि 

करिे हैं 

4. Explain the Non-Voluntarist theories of Law. 

 कानून के गैर-सै्वस्टिक तसद्ांि कय स्पष्ट करें  

5. State the arguments given for and against Capital Punishment? Is 

Capital Punishment justified? 



मृतु्यिंड की सजा के स्टिलाफ और उसके पक्ष में िी गई िलीलें कय तवसृ्ति करें  । क्ा 

मृतु्यिंड उतिि है 

6. Define Hart’s theory of Law as a system of primary and secondary 

rules? 

 प्राथतमक और माध्यतमक तनयमय ंकी एक प्रणाली के रूप में कानून के हार्ि के तसद्ांि 

कय पररभातिि करें  



 

 

 

The question paper contains 2 printed pages 

Your Roll No……….. 

 

Unique Paper Code         :12107511 

Name of the Course        : B.A. (Hons.), Philosophy 

Name of the Paper          :Bio Ethics 

Semester                         :V Maximum Marks: 75 

 

Instructions for Candidates 

1. One needs to attempt any four questions. 

2. All questions carry equal marks. 

3. Answer may be written in Hindi or English but the same medium should be followed 

throughout the paper. 

छात्रों के लिए लिशालििेश  

१. लकसी भी चार प्रश्न के उत्तर िीलिए । 

२. सभी के अोंक समाि हैं 

३. इस प्रश्न पत् का उत्तर अोंगे्रिी या लहन्दी में लकसी एक भाषा मे िीलिए िेलकि सभी 

उत्तर का माध्यम एक ही हरिा चालहए । 
 

1. What do understand by Bio Ethics? Discuss. 

िैव िैलिकिा से आप क्या समझिे हैं चचाा कीलिए ? 

 

2. Discuss the arguments given by Michael Tooley for human cloning. 

मािव प्रलिरूपण के लिए माइकि टूिी द्वारा लिए गए िकों की चचाा कीलिए । 

 

 

 



 

3. Examine the arguments given for and against the concept of surrogacy. 

सररगेसी की अवधारणा के पक्ष और लवपक्ष में लिए गए िको का परीक्षण कीलिए । 

 

4. Evaluate the arguments given by Michael Tooley for the concept of Personhood. 

व्यक्ति की अवधारणा के लिए लिए गए िकों का मूल्ाोंकि कीलिए । 

 

 

5. What are the problems raised by Dennis Mckerlie for the share of health resources and 

economic wealth for elderly in his article ‘Justice and the Elderly’? Discuss. 

अपिे िेख ‘िक्तिस एण्ड एल्डिी’ में बुिुगों के लिए स्वास्थय सोंसाधिरों और आलथाक 

धि के लहसे्स के लिए डेलिम मकरिी द्वारा उठाई गई समस्याएों  क्या हैं? चचाा कीलिए 

। 

 

6. Write an essay on the concepts of ‘Consent’ and ‘Confidentiality’ in the field of Bio 

Ethics. 

          िैव िैलिकिा के के्षत् में सहमलि और गरपिीयिा की अवधारणा पर एक लिबन्ध लिक्तखए 

। 
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A 
(This Question Paper contains 2 printed pages) 

Your Roll No. ……………………. 

आपका अनुक्रमाांक...................... 
S. No of Question Paper ……………………. 

प्रश्न पत्र का क्रमाांक...................... 
 

Unique Paper Code    : 12327901  

यूननक पेपर कोड  : 12327901  
 

Name of the Course  : BA Hons (Political Science) CBCS/ DSE 

पाठ्यक्रम का नाम  : BA Hons (Political Science) CBCS/ DSE 

 

Title of Paper   : Citizenship in a Globalizing World   

 

Semester    : V  

सेमेस्टर    : V  

 

Time: 3 Hours         Maximum Marks: 75 

समय: 3 घटें           पूर्णांक: 75 

 
Note: Answers may be written either in English or Hindi but the same medium should be followed 

throughout the paper. 

 इस प्रश्नपत्र कण उत्तर अंग्रेजी यण ह दंी ककसी एक भणषण में दीजजए लेककन सभी उत्तरों कण मणध्यम एक 
 ी  ोनण चणह ए। 

 

 

Attempt Any Four questions.  

All questions carry equal marks. 

ककन ीं चार प्रश्नों के उत्तर दीजजए। 
सभी प्रश्नों के अंक समणन  ैं। 

 

 

 

1. What is citizenship? How has the concept of citizenship evolved over time?  

नणगररकतण क्यण  ै? समय के सणथ नणगररकतण की अवधणरर्ण में ककस तर  ववकणस  ुआ  ै? 
 

2. Critically examine T. H Marshall’s theory of citizenship. 

नणगररकतण पर टी. एच. मणर्शल के ससदधणंत कण आलोचनणत्मक परीक्षर् कीजजये। 
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3. What is multiculturalism? Examine the notion of differentiated citizenship in this 

context. 

ब ुसंस्कृततवणद क्यण  ै? इस सनदभश में ववभेदीकृत नणगररकतण की अवधणरर्ण कण परीक्षर् 
कीजजये। 
 

4. What is Globalization? How has it affected the concept of citizenship?  

वैश्वीकरर् क्यण  ै? इसने नणगररकतण की अवधणरर्ण को ककस प्रकणर प्रभणववत ककयण  ै? 
 

5. “Cosmopolitanism provides a radical critique of the manner in which distorted global 

politics perpetuates global inequalities”. With reference to this statement discuss the 

idea of cosmopolitanism.  

“सवशदेर्वणद ववकृत वैजश्वक रणजनीतत के दवणरण वैजश्वक असमणनतण बढ़णने के तरीकों की 
आमूल-पररवतशनवणदी आलोचनण प्रस्तुत करतण  ै”। इस कथन के संदभश में सवशदेर्वणद के 
ववचणर की वववेचनण कीजजये। 
 

6. What is Global Justice? Examine the concept of global justice with special reference 

to Thomas Pogge’s views.  

वैजश्वक नयणय क्यण  ै? थॉमस पोगे के ववचणरों के ववर्ेष सनदभश में वैजश्वक नयणय की 
अवधणरर्ण कण परीक्षर् कीजजये. 
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 (This Question Paper contains 2 printed pages) 

Your Roll No. ……………………. 

आपका अनुक्रमाांक...................... 
S. No of Question Paper ……………………. 

प्रश्न पत्र का क्रमाांक...................... 
 

Unique Paper Code    : 12327908  

यूननक पेपर कोड  : 12327908  

 

Name of the Course   : BA (Hons) Political Science  

पाठ्यक्रम का नाम  : बी.ए.(ऑनर्स) राजनीनि विज्ञान  
 

Title of Paper   : Dilemmas in Politics (DSE)  

 

Semester/Annual  : V 

र्ेमेस्टर / िावषसक  : V  

 

Time: 3 Hours           Maximum Marks: 75 

समय: 3 घटें          पूर्णांक: 75 

 
Note: Answers may be written either in English or Hindi but the same medium should be followed 

throughout the paper. 

 इस प्रश्नपत्र कण उत्तर अंग्रेजी यण ह दंी ककसी एक भणषण में दीजजए लेककन सभी उत्तरों कण मणध्यम 
एक  ी  ोनण चणह ए। 

 

Attempt Any Four questions.  

All questions carry equal marks. 

ककन ीं चार प्रश्नों के उत्तर दीजजए। 
सभी प्रश्नों के अंक समणन  ैं। 

 

1. Examine the relationship between politics and violence. 

रणजनीति और ह संण के बीच सम्बनध कण परीक्षर् कीजजये। 
 

2. What is understood by capability approach? How does it address the problem of 

social exclusion? 

सणमर्थययिण दृजटटकोर् से आप क्यण समझिे  ैं? य  सणमणजजक बह टकरर् की समस्यण को 
कैसे  ल करिण  ै? 

 



3. Discuss the main concerns of the third world ecology. 

िीसरी दतुनयण की पणररजस्ितिकी की मुख्य चचिंणओं की वििेचनण कीजजये। 
 

4. Can there be a standpoint of women? Answer with reference to the debate on feminist 

epistemology. 

क्यण मह लणओं कण एक दृजटटकोर्  ो सकिण  ै? नणरीिणदी ज्ञणनमीमणंसण के िणद-वििणद के 
सनदभय में उत्तर दीजजये। 
 

5. How can humanitarian intervention be justified? Explain. 

मणनििणिणदी  स्िक्षेप को कैसे स ी सणबबि ककयण जण सकिण  ै? व्यणख्यण कीजजये। 
 

6. How does the understanding of global justice expandour responsibilities? Discuss. 

िैजश्िक नयणय की समझ  मणरी जजम्मेदणररयों कण ककस िर  विस्िणर करिी  ै? वििेचनण 
कीजजये। 



SET A 

 

S. No. of Ques Paper   : 

 

Unique Paper Code  : 12117905 

 

 Name of the Paper  : DSE-PSY-03 Health Psychology 

 

Name of the Course  : B.A. (Hons) Psychology CBCS  

 

 Semester   : V 

 

 Duration   : 3 hours 

 

 Maximum Marks  : 75 Marks 

 

 

 

Instructions for the Candidates 

(Write your Roll No. on the top immediately on receipt of this question paper.) 

(इस  प्रश्नपत्र  की प्राप्ति  पर तुरंत अपना रोल नंबर प्तलखें ) 

 Note:- Answers may be written either in English or in Hindi; but the same medium 

should be used throughout the paper.  

उत्तर अंगे्रजी या ह दंी में प्तलख ेजा सकत े ैं; लेककन पूरे पेपर में एक  ी माध्यम का उपयोग ककया जाना चाप्त ए। 

There are six questions in all. Attempt any four questions.  

कुल छ  प्रश्न  ैं। ककसी भी चार प्रश्नों के उत्तर दीप्तजए। 

All questions carry equal marks. 



सभी प्रश्नों के समान अंक  ैं। 

 

 

 

 

 

 

 

 

 

 

Q1.      What is health Psychology? Describe the different components of health. (18.75) 

स्वास््य मनोप्तवज्ञान क्या  ?ै स्वास्थय के अंगों का प्तववरण दीप्तजये. 

Q2.      Describe the Health Belief model. State any three barriers to health behaviours 

citing examples from everyday life. (18.75) 

 ले्थ प्तबलीफ मॉडल का प्तववरण दीप्तजये. अपनी रोज़ मराा की प्तज़न्दगी से उद्धारण लेते हुए स्वास्थय 

सम्बन्धी व्यव ारों में अवरोध पैदा करन ेवाले ककन् ी भी तीन कारणों का ब्यौरा दीप्तजये. 

Q3.   Describe the health benefits of exercise and physical activity. Support your answer 

with examples from recent research. (18.75) 

व्यायाम एवं शारीररक गप्ततप्तवप्तधयों के स्वास्थय सम्बन्धी फायद ेबताए.ं अपने उत्तर को आधुप्तनक शोध 

के उद्धरणों से सपष्ट कीप्तजय.े 

Q4.      Elucidate Snyder’s model of hope. How are hope and health linked? (18.75) 

स्नाइडर के आशा प्तसद्धांत पर चचाा कीप्तजय.े आशा और स्वास्थय ककस प्रकार जुड़े हुए  ैं? 



Q5.      Explain how the understanding of the mind-body relationship has evolved over 

time. (18.75) 

मन-शरीर संबंधों की समझ समय के साथ साथ कैस ेबदली  ,ै इसका वणान करें. 

Q6.      Describe the two perspectives on happiness. Briefly discuss any 3 factors that 

contribute to happiness. (18.75) 

ख़ुशी के दो दपृ्तष्टकोणों का प्तववरण दीप्तजये. ख़ुशी के ककन् ी भी तीन कारकों को संप्तिि में समझाइये. 

 

  

 



SET A 

 

S. No. of Ques Paper   : 

 

Unique Paper Code  : 12117905 

 

 Name of the Paper  : DSE-PSY-03 Health Psychology 

 

Name of the Course  : B.A. (Hons) Psychology CBCS  

 

 Semester   : V 

 

 Duration   : 3 hours 

 

 Maximum Marks  : 75 Marks 

 

 

 

Instructions for the Candidates 

(Write your Roll No. on the top immediately on receipt of this question paper.) 

(इस  प्रश्नपत्र  की प्राप्ति  पर तुरंत अपना रोल नंबर प्तलखें ) 

 Note:- Answers may be written either in English or in Hindi; but the same medium 

should be used throughout the paper.  

उत्तर अंगे्रजी या ह दंी में प्तलख ेजा सकत े ैं; लेककन पूरे पेपर में एक  ी माध्यम का उपयोग ककया जाना चाप्त ए। 

There are six questions in all. Attempt any four questions.  

कुल छ  प्रश्न  ैं। ककसी भी चार प्रश्नों के उत्तर दीप्तजए। 

All questions carry equal marks. 



सभी प्रश्नों के समान अंक  ैं। 

 

 

 

 

 

 

 

 

 

 

Q1.      What is health Psychology? Describe the different components of health. (18.75) 

स्वास््य मनोप्तवज्ञान क्या  ?ै स्वास्थय के अंगों का प्तववरण दीप्तजये. 

Q2.      Describe the Health Belief model. State any three barriers to health behaviours 

citing examples from everyday life. (18.75) 

 ले्थ प्तबलीफ मॉडल का प्तववरण दीप्तजये. अपनी रोज़ मराा की प्तज़न्दगी से उद्धारण लेते हुए स्वास्थय 

सम्बन्धी व्यव ारों में अवरोध पैदा करन ेवाले ककन् ी भी तीन कारणों का ब्यौरा दीप्तजये. 

Q3.   Describe the health benefits of exercise and physical activity. Support your answer 

with examples from recent research. (18.75) 

व्यायाम एवं शारीररक गप्ततप्तवप्तधयों के स्वास्थय सम्बन्धी फायद ेबताए.ं अपने उत्तर को आधुप्तनक शोध 

के उद्धरणों से सपष्ट कीप्तजय.े 

Q4.      Elucidate Snyder’s model of hope. How are hope and health linked? (18.75) 

स्नाइडर के आशा प्तसद्धांत पर चचाा कीप्तजय.े आशा और स्वास्थय ककस प्रकार जुड़े हुए  ैं? 



Q5.      Explain how the understanding of the mind-body relationship has evolved over 

time. (18.75) 

मन-शरीर संबंधों की समझ समय के साथ साथ कैस ेबदली  ,ै इसका वणान करें. 

Q6.      Describe the two perspectives on happiness. Briefly discuss any 3 factors that 

contribute to happiness. (18.75) 

ख़ुशी के दो दपृ्तष्टकोणों का प्तववरण दीप्तजये. ख़ुशी के ककन् ी भी तीन कारकों को संप्तिि में समझाइये. 
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                        Roll No./ अनुक्रमाांक सांख्या  

SET- D/ सेट- द   

S. No. of Question Paper/ प्रश्न पत्र क्रम ांक :  

Unique Paper code/ विशिष्ट पत्र कोड  :  12117907 

Name of the Paper/ पत्र क  न म             : DSE-PSY-04: Community 

      Psychology/ डी॰एस॰ई॰-पी॰एस॰ि ई॰-
04: स मुद यिक मनोविज्ञ न 

Name of the Department/ विभ ग क  न म  : Psychology/ मनोविज्ञ न  

Semester/ सेमेस्टर      : V/ प ाँच  

Name of the course/ प ठ्िक्रम क  न म  :  B.A. (Hons.) Psychology    

Psychology OBE December 2020/                                                             

सी॰बी॰सी॰एस॰ बी॰ए॰ (ओनर॰)     
मनोविज्ञ न ओ॰बी॰ई॰ ददसम्बर 2020  

Duration/ समि िधि: 3 Hours/ घांटे                           Maximum Marks/ अधिकतम अांक: 75 

 

(Write your Roll no. on the top immediately on receipt of this Question paper) 

(इस प्रश्न पत्र के शमलते ही ऊपर ददए गए यनि ाररत स्थ न पर अपन  अनुक्रम ांक शलखिए) 

Note: - Answers may be written either in English or Hindi, but the same medium should be 

used throughout the paper. 

दटप्पणी:- इस प्रश्न पत्र क  उत्तर अांग्रेजी ि  दहांदी ककसी एक भ ष  में दीजजए, लेककन सभी 
उत्तरों क  म ध्िम एक ही होन  च दहए।  

Answer any four question out of six. All questions carry equal marks. 

छः प्रश्नों में से ककनहीां चार प्रश्नों के उत्तर दें।  सभी प्रश्नों के अांक सम न हैं। 

P.T.O. 
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1. What do you understand the term First order and Second Order change? With the help 

of the case study, elaborate the second order change in dealing with psychological or 

social issues?              (18.75) 

प्रथम आज्ञजप्त ि द्वितीि आज्ञजप्त पररितान पद स ेआप क्ि  समझते हैं। केस स्टडी की 
सह ित  से मनोिैज्ञ यनक ि  स म जजक मुद्दों के स थ यनपटने में द्वितीि आज्ञजप्त पररितान 

को विस्त ररत करें।  

  

2. Are values of diversity and sense of community opposed to each other?  Illustrate 

with the help of a suitable example.                     (18.75) 

क्ि  विविित  मूल्ि और समुद ि की भ िन  एक दसूरे के विरोिी हैं? उपिुक्त उद हरणों की 
सह ित  से धचत्रण करें। 

  
3. With the help of the suitable case study, discuss the various government and non-

government initiatives for community health promotion.            (18.75) 

उपिुक्त केस स्टडी की सह ित  से स मुद यिक स्ि स््ि सांििान के शलए विशभनन सरक री 
और गैर सरक री  पहलों पर वििेचन  करें। 

  
4. What is empowerment? Describe the multiple forms of power, using relevant studies.  

      (18.75) 

सिजक्तकरण क्ि  है? प्र सांधगक अध्ििनों क  उपिोग करके, िजक्त के बहू रूपों क  िणान करें। 

 
5. In this COVID-19 situation, discuss the key considerations for designing the 

community development program with special focus on empowerment, using relevant 

studies.               (18.75) 

इस कोविड-19 जस्थयत में, स मुद यिक विक स क िाक्रम डडज इन करने के शलए मलू विच रों के 

स थ सिजक्तकरण पर वििषे ध्ि न देत ेहुए, प्र सांधगक अध्ििनों के उपिोग करते हुए चच ा 
करें।  

 

6. Explain the Moos’s model for understanding the factors of the ecological context. 

State how does this model facilitate Sense of Community values within the 

community.                (18.75) 

प ररजस्थयतकी सांदभा के क रकों को समझने के शलए मसू के प्रयतम न क  िणान करें। िणान करें 
कैसे िह प्रयतम न समुद ि के भीतर समुद ि बोि मूल्ि को सुगम बन त  है।  
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This question paper contains 1 printed page. 

Roll No. :    

Unique Paper Code :        12137902   

Name of the Paper :        Art of Balanced Living   

Name of the Course :        B.A. (H), DSE, CBCS   

Semester  :         V  

Duration :  3 Hours 

Maximum Marks :  75 

टिप्पणी:  

1. इस प्रश्न-पत्र का उत्तर ससं्कृत या हिन्दी या अगं्रजेी ककसी एक भाषा में दीहजए, परन्तु सभी उत्तरों का 

माध्यम एक िी िोना चाहिए ।  

2. इस प्रश्नपत्र में कुल 6 प्रश्न िैं । इनमें से ककन्िीं 4 प्रश्नों के उत्तर दीहजए । सबके अङ्क समान िैं । 

 

Note:   

1. Answers should be written in Sanskrit or in Hindi or in English but the same medium 

should be used throughout the paper. 

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each 

question contains equal marks.  

 

1. बृिदारण्यकोपहनषद के आधार पर श्रवण, मनन एवं हनकदध्यासन के स्वरूप का वणणन कीहजए। 

 Discuss the nature of Śravaṇa, Manana, and Nididhyāsana on the basis of 

Bṛhadāraṇyakopaniṣada. 

 

2. याज्ञवल्कय-मैत्रेयी संवाद में ‘पुत्र  के प्रयोजन के हलए पुत्र हप्रय निीं िोता’ इस उपदशे के द्वारा 

आत्मतत्त्व के ककस रिस्य को समझाया गया ि?ै स्पष्ट कीहजए। 

In the Yajnavalkaya-Maitreya dialogue, which secret of self-realization was explained 

through the sermon 'Son is not dear for the purpose of son' Explain it. 

  

3. ‘हनयतं कुरु कमणम्’ इस पंहि के आशय को गीता के ततृीय अध्याय के आधार पर स्पष्ट कीहजए। 

Explain the meaning of this line 'Niyatam Kuru Karmam' on the basis of third 

chapter of Gita. 
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4. गीता के  ज्ञान-योग अध्याय के आधार पर चार प्रकार के भिों की हवशेषताओं का वणणन करते हुए 

जीवन में भहि के मित्त्व को स्पष्ट कीहजए। 

Explain the importance of Bhakti in life, describing the characteristics of four 

types of devotees based on the Gyan-Yoga chapter of the Gita. 

 

5. ‘योग’ शब्द को स्पष्ट करते हुए हचत्तवृहत्तहनरोध के उपायों का वणणन कीहजए। 

     Explaining the word ‘Yoga’ describe the solutions for Chittavrittinirodha. 

 

6. योग दशणन में प्रहतपाकदत अष्टांग-योग के मित्त्व का वणणन कीहजए। 

Describe the importance of Aṣṭānga-yoga as mentioned in Yoga Philosophy.  
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4. गीता के  ज्ञान-योग अध्याय के आधार पर चार प्रकार के भिों की हवशेषताओं का वणणन करते हुए 

जीवन में भहि के मित्त्व को स्पष्ट कीहजए। 

Explain the importance of Bhakti in life, describing the characteristics of four 

types of devotees based on the Gyan-Yoga chapter of the Gita. 

 

5. ‘योग’ शब्द को स्पष्ट करते हुए हचत्तवृहत्तहनरोध के उपायों का वणणन कीहजए। 

     Explaining the word ‘Yoga’ describe the solutions for Chittavrittinirodha. 
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Describe the importance of Aṣṭānga-yoga as mentioned in Yoga Philosophy.  

 

    
 



SET - A 

(This Question Paper contains 2 printed pages) 

 

Your Roll No………………… 

आपकाअनुक्रमाांक...................... 

 

S. No. of Question Paper………………… 

प्रश्न-पत्रकाक्रमाांक........................ 

 

Unique Paper Code : 12307903 

यूननकपेपरकोड  : 12307903 

 

Name of the paper : Environmental Sociology 

Name of the Course : BA (Hons.) CBCS  

 

Semester/Annual : V 

सेमेस्टर/वार्षिक  : V 

 

Duration: 3 +1 hours       Maximum Marks: 75 

समय   : 3+1घण्टे        पूणाकं:  75  

    

         

Instructions for Candidates: 

 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

इस प्रश्न-प्रत्र के नमलते ही ऊपर ददए गए स्थान पर अपना अनुक्रमाांक नलनिए।  

 

2. Answer any three questions. 

दकन्हीं  प्रश्नों के उत्तर दीनिए। 

 

3. Answer may be written either in English or in Hindi but the same medium should be used 

throughout the paper. 

इस प्रश्न-पत्र का उत्तर अांगे्रिी या हहदी दकसी एक भािा में दीनिए लेदकन सभी उत्तरों का माध्यम एक 

ही होना चानहए। 

 

4. All questions carry equal marks. 

सभी प्रश्नों के अांक समान हैं। 

 

 

 



SET – A 

Q1.How does realist and constructivist analyse an environmental issue? Explain with examples. 

;FkkZFkoknh vkSj fuekZ.koknh ,d i;kZoj.kh; eqn~ns dk fo'ys"k.k dSls djrk gS\ mnkgj.k lfgr Li"V 

dhft;s \ 

Q2. Elucidate the Ecological Production thesis in accordance with development of environmental sociology. 

i;kZoj.kh; lekt'kkL=kh ds fodkl ds vuqlkj ikfjfLFkfrd mRiknu Fkhfll dks vyx djs \ 

Q3. How does global environmental risk engages in a critique with technological development of 

modern life? 

vk/kqfud thou ds rduhdh fodkl ds lkFk oSf'od i;kZoj.kh; tksf[ke ,d lekykspuk esa dSls layXu 

gS\ 

Q4. Critically examine the ecofeminist understanding of the relationship between women and nature? 

efgykvksa vkSj izd`fr ds chp laca/kksa dh ikfjfLFkfrdh dh le> dh vkykspukRed :i ls tkap djaas\ 

Q5. Write an essay on development induced displacement and prospect environmental crisis with 

reference to Dam building. 

cka/k fuekZ.k ds lanHkZ esa fodkl izsfjr foLFkkiu vkSj laHkouk i;kZoj.kh; ladV ij ,d fuca/k fy[ksa \  

Q6. Third world environmental movements are inseparable from struggle for social justice. Substantiate 

with appropriate case studies from India. 

rhljh nqfu;k ds i;kZoj.kh; vkanksyu lkekftd U;k; ds fy, la?k"kZ ls vfoHkkT; gS Hkkjr ls mi;qDr 

dsl LVMh ds lkFk v/;;u ds ,d {ks= ds :i esa \ 
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rhljh nqfu;k ds i;kZoj.kh; vkanksyu lkekftd U;k; ds fy, la?k"kZ ls vfoHkkT; gS Hkkjr ls mi;qDr 

dsl LVMh ds lkFk v/;;u ds ,d {ks= ds :i esa \ 
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Instructions for Candidates: 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

इस प्रश्न-प्रत्र के नमलते ही ऊपर ददए गए स्थान पर अपना अनुक्रमाांक नलनखए।  

 

2. Answer any three questions. 

दकन्हीं  प्रश्नों के उत्तर दीनिए। 
 

3. Answer may be written either in English or in Hindi but the same medium should be used 

throughout the paper. 

इस प्रश्न-पत्र का उत्तर अांगे्रिी या हहदी दकसी एक भाषा में दीनिए लेदकन सभी उत्तरों का माध्यम एक ही 

होना चानहए। 

 

4. All questions carry equal marks. 

सभी प्रश्नों के अांक समान हैं। 
 

 

 



 

 

SET B 

 

 1. Examine the sociological understanding of work in the light of scientific management 

theory. 

 

      1.   वैज्ञाननक प्रबांधन नसद्ाांत के प्रकाश में काम की समािशास्त्रीय समझ का परीक्षण करें. 

 

 2. Critically examine the view that information technology has produced a new kind of society. 

 

      2.  आलोचनात्मक दनृि स ेपरखें दक क्या सूचना प्रौद्योनगकी न ेएक नए तरह के समाि का ननमााण दकया ह?ै 

       

      3.  Write an essay on the gendering of the modern workspace. 

 

      3.  आधुननक कायाक्षेत्र के लैंनगकरण पर एक ननबांध नलखें.      

 

      4. Outline the important aspects of unpaid work across different domains. 

 

      4.  समाि के नवनभन्न क्षते्रों में स्थानपत अवैतननक काया के महत्वपूणा पहलुओं को रेखाांदकत करें.  

 

      5. Write an account of the Indian informal sector with a suitable example.  

 

      5. उपयुक्त उदाहरण के साथ भारतीय अनौपचाररक क्षेत्र पर एक लेख नलखें. 

       

      6.Discuss the concerns of disaster and risk in modern industry. 

 

      6.आधुननक उद्योग में आपदा और िोनखम के पहलुओं पर चचाा करें. 

 


